
CHEMISTRY

BOOKS - S DINESH & CO CHEMISTRY (HINGLISH)

S-BLOCK ELEMENTS (ALKALI AND ALKALINE EARTH

METALS )

Ncert

1. What are the common physical and chemical features of alkali metals?

Watch Video Solution

2. Discuss the general characteristics and gradation in properties of

alkaline earth metals.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dWflhXwezQCO
https://dl.doubtnut.com/l/_4Xfr8JffXtWn


3. Why are alkali metals not found in nature?

Watch Video Solution

4. Find out the oxidation state of sodium in .

Watch Video Solution

Na2O2

5. Explain why is sodium less reactive than potassium.

Watch Video Solution

6. Compare the alkali metals and alkaline earth metals with respect to (a)

ionisation enthalpy, (b) basicity of oxides and (c ) solubility of hydroxides.

Watch Video Solution

https://dl.doubtnut.com/l/_4Xfr8JffXtWn
https://dl.doubtnut.com/l/_BB6iGWQ2n0pG
https://dl.doubtnut.com/l/_he3WuBa1Iz5X
https://dl.doubtnut.com/l/_L0KAW8yPf65X
https://dl.doubtnut.com/l/_Pe9UjnQzI4vm
https://dl.doubtnut.com/l/_lQkvwCUVmErF


7. In what ways lithium shows similarities to magnesium in its chemical

behaviour?

Watch Video Solution

8. Explain why can alkali and alkaline earth metals not be obtained by

chemical reduction methods?

Watch Video Solution

9. Why are potassium and caesium, rather lithium used in photoelectric

cells?

Watch Video Solution

10. When an alkali metal dissolves in liquid ammonia the solution can

acquire different colours. Explain the reasons for this type of colour

change.

https://dl.doubtnut.com/l/_lQkvwCUVmErF
https://dl.doubtnut.com/l/_WMjOO4YBAArr
https://dl.doubtnut.com/l/_EPyojjCXLRSy
https://dl.doubtnut.com/l/_n1QZTbdeqF7X


Watch Video Solution

11. Beryllium and magnesium do not give colour to flame whereas other

alkaline eath metals do so. Why?

Watch Video Solution

12. Discuss the various reactions that occur in the Solvay process

Watch Video Solution

13. Why potassium carbonate  cannot be prepared by Solvay-

ammonia process ?

Watch Video Solution

(K2CO3)

https://dl.doubtnut.com/l/_n1QZTbdeqF7X
https://dl.doubtnut.com/l/_3mvWBvXesKvm
https://dl.doubtnut.com/l/_UIsmcryB6H5U
https://dl.doubtnut.com/l/_WR9p9bYhO1cL


14. Lithium carbonate decomposes on heating while sodium carbonate

does not.

Watch Video Solution

15. Compare the solubility and thermal stability of the following

compounds of the alkali metals with those of the alkaline earth metals.

(a) Nitrates (b) Carbonates (c) Sulphates.

Watch Video Solution

16. Starting from sodium chloride, how will you proceed to prepare (i)

sodium metal (ii) sodium hydrxide (iii) sodium peroxide (iv) sodium

carbonate.

Watch Video Solution

https://dl.doubtnut.com/l/_Ddsk8Iqb6KHI
https://dl.doubtnut.com/l/_GBJztpfzJbbD
https://dl.doubtnut.com/l/_fKtihDDiM53j


17. What happens when (a) magensium in burnt in air, (b) quicklime is

heated with silica, (c ) chlorine reacts with slaked lime and (d) calcium

nitrate is heated?

Watch Video Solution

18. Describe two important uses of each of the following: 

(a) casutic soda, (b) sodium carbonate and ( c) quicklime.

Watch Video Solution

19. What is the structure of  molecule in gaseous and solid state?

Watch Video Solution

BeCI2

20. The hydroxides and carbonates of sodium and potassium are easily

soluble in water the corresponding compounds of magnesium and

https://dl.doubtnut.com/l/_K1IaBHca5BiM
https://dl.doubtnut.com/l/_u1HbUrpGNAX2
https://dl.doubtnut.com/l/_2p5cxXJgrCjs
https://dl.doubtnut.com/l/_vr5Lg3QQxpt2


calcium are springly soluble. Explain.

Watch Video Solution

21. Describe the importance of the following: (a) limestone, (b) cement

and ( c) plaster of Paris.

Watch Video Solution

22. Why are lithium salts commonly hydrated while those of other alkali

metal ions ar usually anhydrous?

Watch Video Solution

23. Why it LiF almost insoluble in water while LiCl is soluble not only in

water but also in acetone ?

Watch Video Solution

https://dl.doubtnut.com/l/_vr5Lg3QQxpt2
https://dl.doubtnut.com/l/_Nb2gHyqpSkMn
https://dl.doubtnut.com/l/_KKIikch66dO3
https://dl.doubtnut.com/l/_eS3UVMEsfaX7
https://dl.doubtnut.com/l/_QyYHOjUO5XUd


24. Explain the significance of sodium, potassium, magnesium and calcium

on biological fluids.

Watch Video Solution

25. What happens when 

a. Sodium metal is dropped in water? 

b. Sodium metal is heated in free supply of air? 

c. Sodium peroxide dissolves in water?

Watch Video Solution

26. (a) Why is LiF least soluble in water among the fluorides of alkali

metals ? Justify the given 

(b) Justify the given order of mobilites of the alkali mteal cations in

aqueous solution: 

 


(c) Lithium is the only alkali metal which forms a nitride directly. Explain . 

Li < Na+ < K + < Rb+ < Cs+

https://dl.doubtnut.com/l/_QyYHOjUO5XUd
https://dl.doubtnut.com/l/_gyyTXdS1vh8T
https://dl.doubtnut.com/l/_8sMeXoU4CqrT


(d)  for (where M=Ca,Sr or Ba) is nearly constant.

Discuss.

View Text Solution

E ∘ M 2 + (aq) → M(s)

27. State as to why 

(a) a solution of  is alkaline ? 


(b) alkali metals are prepared by electrolysis of their fused chlorides? 

(c) sodium is found to be more useful than potassium ?

Watch Video Solution

Na2CO3

28. Write balanced equations for reactions between 

a.  and water 


b.  and water 


c.  and 

Watch Video Solution

Na2O2

KO2

Na2O CO2

https://dl.doubtnut.com/l/_8sMeXoU4CqrT
https://dl.doubtnut.com/l/_rLn4N8OS2Gus
https://dl.doubtnut.com/l/_04ILlAG9BqIO
https://dl.doubtnut.com/l/_ZQ7dUlgVm1jJ


Short Answer Type Questions

29. Which of the following alkaki metals is having the least melting point

? 

 (b)  (c)  (d) 

View Text Solution

Na K Rb Cs

30. Which one of the following alkali metals gives hydrated salts?

Watch Video Solution

31. The thermal stability of alkaline earth metal carbonates

 and  decreases as:

Watch Video Solution

MgCO3, CaCO3, BaCO3 SrCO3

https://dl.doubtnut.com/l/_ZQ7dUlgVm1jJ
https://dl.doubtnut.com/l/_sqQtNBmuu0Sj
https://dl.doubtnut.com/l/_NV77pK0YRXcj


1. How do you account for the strong reducing power of lithium in

aqueous solution?

Watch Video Solution

2. When heated in air, the alkali metals form various oxides. Mention the

oxides formed by  and K.

Watch Video Solution

Li, Na

3. Complete the following reactions 

Watch Video Solution

https://dl.doubtnut.com/l/_GF7Ykd16bNQx
https://dl.doubtnut.com/l/_WuJdBa5WclLI
https://dl.doubtnut.com/l/_JCPwLzifCFDb


4. Lithium resembles magnesium in some of its properties. Mention two

such properties and given reasons for this resemblance.

Watch Video Solution

5. Name an element from group 2 which forms an amphoteric oxide and a

water soluble sulphate.

Watch Video Solution

6. Discuss the trend of the following 

(i) Thermal stability of carbonates of Group 2 elements. 

(ii) The solubility and the nature of oxides of Group 2 elements.

Watch Video Solution

https://dl.doubtnut.com/l/_zptTVwUlPyem
https://dl.doubtnut.com/l/_5Y4pojm6MCgC
https://dl.doubtnut.com/l/_Sk445vdlOk0O


7. Why are  and  readily soluble in water while 

 and  are insoluble?

Watch Video Solution

BeSO4 MgSO4

CaSO4, SrSO4 BaSO4

8. All compounds of alkali metals are easily soluble in water but lithium

compounds are more soluble in organic solvents. Explain.

Watch Video Solution

9. In the Solvay process, can we obtain sodium carbonate directly by

treating the solution containing  with sodium chloride?

Explain.

Watch Video Solution

(NH4)2CO3

https://dl.doubtnut.com/l/_5yimeOpNaQbt
https://dl.doubtnut.com/l/_17y6rCsBuFFW
https://dl.doubtnut.com/l/_WCmnYr7OSNAZ


10. Why do beryllium and magnesium not impart colour to the flame in

the flame test?

Watch Video Solution

11. What is the structure of  molecule in gaseous and solid state?

Watch Video Solution

BeCI2

12. The s-block elements are characterised by their larger atomic sizes,

lower ionisation enthalpies, invariable +1 oxidation state and solubilities

of their oxosalts. In the light of these features describe the nature of

their oxides, halides and oxosalts.

Watch Video Solution

https://dl.doubtnut.com/l/_AP468JuE3HD4
https://dl.doubtnut.com/l/_0kNWeEvLe3QS
https://dl.doubtnut.com/l/_n4aM1L709jzk


13. Present a comparative account of the alkali and alkaline earth metals

with respect to the following characteristics. 

(a) Tendency to form ionic/covalent compounds (b) Nature of oxides and

their solubility in water 

(c) Formation of oxoslats 

(d) Solubility of oxosalts 

(e) Thermal stability of oxosalts

Watch Video Solution

14. When a metal of group 1 was dissolved in liquid ammonia, the

following observations were obtained 

(a) Blue solution was obtained initially. 

On concentrating the solution, blue colour changed to bronze colour.How

do you account for the blue colour of the solution? Given the name of the

product formed on keeping the solution for some time.

Watch Video Solution

https://dl.doubtnut.com/l/_il1Yq3VODtsR
https://dl.doubtnut.com/l/_xdWicDJ3WTLa


15. The stability of peroxide and superoxide of alkali metals increase as we

go down to group. Explain giving reason.

Watch Video Solution

16. When water is added to compound (A) of calcium, solution of

compound (B) is formed. When carbon dioxide is passed into the

solution, it turns milky due to the formation of compound (C). If excess of

carbon dioxide is passed into the solution milkiness disappears due to

the formation of compound (D). Identify the compounds A,B,C and D.

Explain why the milkiness disppears in the last step.

Watch Video Solution

17. Lithium hydride can be used to prepare other useful hydrides.

Beryllium hydride is one of them. Suggest a route for the preparation of

beryllium hydride starting from lithium hydride. Write chemical equations

involved in the process.

https://dl.doubtnut.com/l/_IknAz3dZrkDP
https://dl.doubtnut.com/l/_1ZaYqNnD6S6h
https://dl.doubtnut.com/l/_0rN8nmOVi5Um


Watch Video Solution

18. An element of group 2 forms covalent oxide which is amphoteric in

nature and dissolves in water to give an amphoteric hydroxide. Identify

the element and write chemical reactions of the hydroxide of the element

with an alkali and an acid.

Watch Video Solution

19. Ions of an element of group 1 participate in the transmission of nerve

signals and transport of sugars and aminoacids into cells. This element

imparts yellow colour to the flame in flame test and forms an oxide and a

peroxide with oxygen. Identify the element and write chemical reaction to

show the formation of its peroxide. Why does the element impart colour

to the flame?

Watch Video Solution

https://dl.doubtnut.com/l/_0rN8nmOVi5Um
https://dl.doubtnut.com/l/_fx16z1zGURTe
https://dl.doubtnut.com/l/_TZ6RioWDTUpD


Concept Based Questions

1. All alkali metals dissolve in liquid ammonia giving highly conducting ____

solutions.

Watch Video Solution

2. Can Na metal be used to remove traces of moisture from ethyl alcohol

?

Watch Video Solution

3. Salt of  with larger anions  are relatively less stable

than its salts with small anions. Comment.

Watch Video Solution

Li⊕ CO2 −
3 , NOΘ

3

https://dl.doubtnut.com/l/_3OJqt3GWF3Ez
https://dl.doubtnut.com/l/_fijOZsPmrAJx
https://dl.doubtnut.com/l/_OsYZRarE1e2i


4. Give reason: 

a.  is added to NaCI in the electrolytic manufacture of sodium. 


b. An aqueous solution of iodine becomes colourless, on adding excess of

sodium hydroxide.

Watch Video Solution

CaCI2

5. Why is lithium iodide more covalent than lithium fluoride ?

Watch Video Solution

6. Why a standard solution of NaOH cannot be prepared by direct

weighing cold NaOH ?

Watch Video Solution

https://dl.doubtnut.com/l/_PeFWhTQffLhD
https://dl.doubtnut.com/l/_1q7JSo3SIIKe
https://dl.doubtnut.com/l/_IPeCvP3vbAbm


7. Sodium salts in aqueous solution are either neutral or alkaline in

nautre.

Watch Video Solution

8. Among the alkali metal halides, lattice enthalpy is maximum for LiF and

least for CsI.

Watch Video Solution

9. Sodium fire in the laboratory should not be extinguished by using

water. Why ?

Watch Video Solution

10. Beryllium chloride fumes in air.

Watch Video Solution

https://dl.doubtnut.com/l/_N3XJO22GhXhr
https://dl.doubtnut.com/l/_tzTZvnmdjeM6
https://dl.doubtnut.com/l/_C2p6YG81jROz
https://dl.doubtnut.com/l/_CnnhXdyVD4ta


11.  ion more highly hydrated than  ion.

Watch Video Solution

Mg2 + Na+

12. The crystalline salts of alkaline earth metals contain more water of

crystallisation than the corresponding alkali metal salts. Why ?

Watch Video Solution

13. Assertion (A):  is soluble in water while  is insoluble. 

Reason (R ): Latice enthalpy of  exceeds its hydration enthalpy.

Watch Video Solution

Na2SO4 BaSO4

BaSO4

14. Sodium cannot be obtained by the electrolysis of aqueous solution of

 using  electrodes.

W h Vid S l i

NaCl Pt

https://dl.doubtnut.com/l/_CnnhXdyVD4ta
https://dl.doubtnut.com/l/_3pvcKCkMq5B1
https://dl.doubtnut.com/l/_kyMMjWu0q2FO
https://dl.doubtnut.com/l/_zjB7R5M7qXaJ
https://dl.doubtnut.com/l/_jeFmJDmPjvHu


Watch Video Solution

15. Hydrated magnesium chloride cannot be dehydrated by heating.

View Text Solution

16. Calcium is generally preferred over sodium to remove traces of water

from alcohol.

View Text Solution

17. Why is  decomposed at a lower temperature whereas 

 at higher temperature?

Watch Video Solution

Li2CO3

Na2CO3

18. The crystalline salts of alkaline earth metals contain more water of

crystallisation than the corresponding alkali metal salts. Why ?

https://dl.doubtnut.com/l/_jeFmJDmPjvHu
https://dl.doubtnut.com/l/_Bc9cjXjv0QTf
https://dl.doubtnut.com/l/_CUYFQ7jt5EST
https://dl.doubtnut.com/l/_W9S9PKr6FdiD
https://dl.doubtnut.com/l/_UtQuHw1pVcKm


Watch Video Solution

19. The enthalpy of formation of hypothetical CaCl(s) is found to be - 180

kJ  and that of  (s) is -800 kJ . Calculate  for the

disproportionation reaction: 

Watch Video Solution

mol− 1 CaCI2 mol− 1 ΔfH
∘

2CaCI(s) → CaCI2(s) + Ca(s)

20. Complete the following : 

(i)  (ii)  


(iii)  (iv)  


 (vi) 

Watch Video Solution

CaSO4. 2H2O
heat

−−→ MgO + C + CI2

heat
−−→

Mg(NO3)2

Heat
−−→ Mg + NO

Heat
−−→

CaC2 + N2 → Mg3N2 + H2O →

21. Complete and balance the following equations. 

(i)  
KO2 + H2O → â€¦. . + O2

https://dl.doubtnut.com/l/_UtQuHw1pVcKm
https://dl.doubtnut.com/l/_Sq7gFH5e29b5
https://dl.doubtnut.com/l/_ld0I6dqj7diY
https://dl.doubtnut.com/l/_zm0hvhHnBlrb


(ii)  


(iii)  


(iv) 

Watch Video Solution

NaNH2 + C → â€¦â€¦ + H2

NaOH + I2 → â€¦â€¦. . NaIO3 + H2O

KI + H2SO4 + H2O2 → I2 + â€¦â€¦H2O

22. Give the names and formulae of the compounds indicated by the

following statements : 

(a) A compound of Ca used in setting fractured bones. 

(b) A compound of Mg, S, O and H used as purgative in medicines. 

(c ) A compound of Ca and C used for the production of acetylene. 

(d) A compound of Ca, C and N used as fertillizer. 

(e) A compound of Ca and H Which upon reacting with water gives .

Watch Video Solution

H2

23. A white solid (x) when heated evolves a colourless gas which does not

support combusion. The residue tis dissolved in water to form (y) which

can be used for white washing. When excess of  is bubbled throughCO2

https://dl.doubtnut.com/l/_zm0hvhHnBlrb
https://dl.doubtnut.com/l/_EV614nRn1YhW
https://dl.doubtnut.com/l/_MFeQIHZSppux


the solution of (y), it gives a compound (z) which upon heating forms (x)

Identify the compound (x).

Watch Video Solution

24. A is a binary compound of a univalent metal. When 1.422 g of A reacts

completely with 0.321 g of sulphur in an evacuated and sealed tube, 1.743

g of white crystalline solid B produced, which produces a hydrated double

salt C with . Identfy A, B and C.

Watch Video Solution

Al2(SO4)3

25. 0.2g of magnesium ribbon was placed in a crucible and heated with lid

on until magnesium began to burn rapidly. At the end of experiment, 0.3g

of a white powder was formed. Show that the result does not agree with

the combustion equation. What might have gone wrong?

Watch Video Solution

https://dl.doubtnut.com/l/_MFeQIHZSppux
https://dl.doubtnut.com/l/_CsA2wkw0HZZW
https://dl.doubtnut.com/l/_iTsMlsfLcjwc
https://dl.doubtnut.com/l/_1CleZ3WAWrXI


26. Which of the following statements are not correct? Rectify them. 

(a) sodium when heated in excess of air forms sodium oxide. 

(b) Solvay ammonia process is employed for the manufacture of both

 and . 


(c ) Rock salt is chemically NaCI. 

(d) Water glass is sodium silicate. 

(e)  is less soluble in water then . 


(f) Potassium is used in photoelectric cells. 

(g) The solution of  in water is basic due to cationic hydrolysis. 


Microcosmic salt has formula  


(i) Glaubar's salt is . 


(j) Sodium carbonate upon heating forms .

View Text Solution

Na2CO3 K2CO3

NaHCO3 KHCO3

Na2CO3

Na(NH4)HPO4.4H2O

Na2SO4.5H2O

CO2

27. Answer the following : 

(i) What is soda ash? 

(ii) Which electrolyte is used to obtain sodium in Castner's Process? 

(iii) What is the intermeidate product is Solvy's porcess? 

https://dl.doubtnut.com/l/_1CleZ3WAWrXI
https://dl.doubtnut.com/l/_qIVQe3bKOLge


(iv) Which product is formed when monoxide is passed through soidum

hydroxide under pressure? 

(v) Out of Na and K, which has higher melting point? 

(vi) What do we get when crystals of washing soda are exposed to air? 

(vii) What is the chemical formula of Carnallite? 

(viii) Why is the solution of sodium in liquid ammonia conducting in

nature?

View Text Solution

28. How will you prepare the following 

(a) sodium carbonate from sodium chloride 

(b) Sodium thiosulphate from sodium sulphite 

(c ) Sodium cyanide from sodium metal. 

(d) Sodium silicate from silica.

Watch Video Solution

https://dl.doubtnut.com/l/_qIVQe3bKOLge
https://dl.doubtnut.com/l/_6IstRF3QQNqS


29. Why do not we use  instead of  to lower the melting

point of NaCI in the Down's process?

Watch Video Solution

MgCI2 CaCI2

30. Complete and balance the following equations. 

(i)  


(ii)  


(iii) 

Watch Video Solution

Mg(HCO3)2 + Ca(OH)2 → MgCO3 + â€¦ + H2O

MgO + CaC2 → Mg + â€¦. 2C

CaO + c
Heat

−−→ â€¦ + CO

31. Explain why hydrated magnesium chloride can not be dehydrated

upon heating.

Watch Video Solution

https://dl.doubtnut.com/l/_2eVnXF8Ssz8r
https://dl.doubtnut.com/l/_JzrWvveZJA7j
https://dl.doubtnut.com/l/_H7L7Uxnw4tiq


32. Give the chemical composition of the following : 

(a) Anhydrone (b) Fluid magnesia (c) Dead burnt plaster (d) Sorel Cement

(e) Epsom salt (f) Magnesia mixture

Watch Video Solution

33.  when reacted with water gives  and HCl. However, 

does not give HCl when treated with water at room temperature. Assigne

reason.

Watch Video Solution

MgN2 NH3 MgCl2

34. The solubility of calcium acetate decreases while that of lead nitrate

increases which increase in temperature.

Watch Video Solution

https://dl.doubtnut.com/l/_2A9j5QeDP1ZH
https://dl.doubtnut.com/l/_YS3WKeBI4BnO
https://dl.doubtnut.com/l/_HWtABosLMlzf


35. (a). What is the hybrid state of  in  in vapour state. What will

be the change in the hybrid state of  in the solid state? 


(b). Draw the structure of  (vapour state) and (ii)  (solid

state). 

(c ). Why do halides and hydrides of beryllium polymerise?

Watch Video Solution

Be BeCl2

BeCl2

(i)BeCl2 BeCl2

36. (a) What is slaked lime ? 

(b) Beryllium and magnesium do not give colour to flame. Why? 

(c ) How is NaOH prepared hy castner-kellner method?

View Text Solution

37. Epson salt's chemical formula is

Watch Video Solution

https://dl.doubtnut.com/l/_2ueDEKjwvReC
https://dl.doubtnut.com/l/_spkqFxcuca2G
https://dl.doubtnut.com/l/_JW9LAM1i1Ivg
https://dl.doubtnut.com/l/_1hE0gC4N9auY


38. (a) Why do alkali metals impart colour to the flame? 

(b) How is  obtained by solvay ammonia process? 


(c ) Which compound of calcium is used in surgical bandages during

fractured bone of the body ?

View Text Solution

Na2CO3

39. Write the formulae of (a) slaked lime (b) Lime stone.

Watch Video Solution

40. (a) Which compound of sodium is used for softening hard water? 

(b) What is the effect of heat on the compounds ? (Write equations for

the reactions): 

(c ) Draw the structure of : 

(i)  (in vapour state) 


(ii)  (in solid state)

Watch Video Solution

BeCI2

BeCI2

https://dl.doubtnut.com/l/_1hE0gC4N9auY
https://dl.doubtnut.com/l/_74fbBuaSJuxN
https://dl.doubtnut.com/l/_AmaNJP1Y49Z7


Hot Conceptual Questions

Value Based

1. Identify (A), (B), (C) and (D) and give their chemical formulae. 

 


 


 


Watch Video Solution

(A) + NaOH
Δ

−−→ NaCI + NH3 + H2O

NH3 + CO2 + H2O → (B)

(B) + NaCI → (C) + NH4CI

(C)
Δ

−−→ Na2CO3 + H2O + (D)

1. Calcium is a member of alkaline earth family (group 2 elements). Earths

crust contains about 3.4 percent calcium. The main ores of calcium are

lime stone, calcite or chalk , gypsum  and

fluroite . Metallic calcium is obtained by the electrolysis of molten

calcium chloride. 

(CaCO3) (CaSO4.2H2O)

(CaF2)

https://dl.doubtnut.com/l/_AmaNJP1Y49Z7
https://dl.doubtnut.com/l/_gyrrlatFNmDm
https://dl.doubtnut.com/l/_20p6eYWNhBV3


(i) What is slaked lime ? 

(ii) What happens when slaked is heated? 

(iii) What is the value associated with quick lime ?

A. (i) Slaked lime is ) 


(ii) Upon heating, slaked lime decomposes to give quick lime 

 


(iii) Quick lime has wide range of applications. It acts as a basic flux

in metallurgy to remove acidic impurities. For many years, farmers

have used lime to lower the acidity of soil for their crops. This is

known as limiting. Quick lime has also been used to remove 

from the chimneys of factories. In fact, an aqueous suspension of

quick lime in injected into the purification chamber before the

gases escape. It combines with  to form both calcium sulphite

and calcium sulphate. Since these are ot gases, they remain in the

ehimeny. 

Ca(OH)2

Ca(OH)2

Heat
−−→ CaO

Quick lime
+ CO2

SO2

SO2

https://dl.doubtnut.com/l/_20p6eYWNhBV3


Problems For Practice

 


B. 

C. 

D. 

Answer:

Watch Video Solution

CaO + SO2 → CaSO3

2CaO + 2SO2 + O2 → 2CaSO4

1. What is the nature of lithium compounds?

Watch Video Solution

2. Which alkali metal imparts pale violet colour to the flame?

https://dl.doubtnut.com/l/_20p6eYWNhBV3
https://dl.doubtnut.com/l/_POfGDZB5656d
https://dl.doubtnut.com/l/_9OyyR1GRY2Al


Watch Video Solution

3. Name the alkali metal carbonate which evolves  upon heating.

Watch Video Solution

CO2

4. Why do alkali metals dissolve in liquid ammonia to form blue solution

which is conducting in nature?

Watch Video Solution

5. What happens to the crystals of washing soda when exposed to air ?

Watch Video Solution

6. Arrange LiF, NaF, KF, RbF and CsF in order of increasing lattice energy.

Watch Video Solution

https://dl.doubtnut.com/l/_9OyyR1GRY2Al
https://dl.doubtnut.com/l/_dYsme2dBS8Jr
https://dl.doubtnut.com/l/_B2HmSfdog3Ss
https://dl.doubtnut.com/l/_MXH26M3Z4l1x
https://dl.doubtnut.com/l/_bqcRZPAmemVi


7. Which alkali metal hydride is used for filling meterological ballons?

Watch Video Solution

8. Water glass is:

Watch Video Solution

9. (a) Name the most abundant metal in the earth's crust. 

(b). Name the most abundant non-metal in the earth's crust.

Watch Video Solution

10. Which alkali metal chloride is soluble in alcohol?

Watch Video Solution

https://dl.doubtnut.com/l/_bqcRZPAmemVi
https://dl.doubtnut.com/l/_1E2ElFOGSvoZ
https://dl.doubtnut.com/l/_0yolvnSXybPL
https://dl.doubtnut.com/l/_AOMot58KyNDZ
https://dl.doubtnut.com/l/_0MkD4Rl1A2gR
https://dl.doubtnut.com/l/_oJvcf3GkmzBV


11. In Down's process for the manufacture of sodium , , is added to

increase its melting point.

Watch Video Solution

CaCl2

12. Among LiF and LiI, which has more covalent character and why ?

Watch Video Solution

13. The alkaline earth metals, which do not impart any colour to Bunsen

flame are :

Watch Video Solution

14. Lithium resembles magnesium in some respects though placed in a

different group.

Watch Video Solution

https://dl.doubtnut.com/l/_oJvcf3GkmzBV
https://dl.doubtnut.com/l/_4eOan1dpLZgQ
https://dl.doubtnut.com/l/_cd5TsGeWZlOD
https://dl.doubtnut.com/l/_zJa9h1CZyXuy


15. Epson salt's chemical formula is

Watch Video Solution

16. Which are more electropositive - alkali metals or alkaline earth metals?

Watch Video Solution

17. Which is quick lime ?

Watch Video Solution

18. Magnesite is an ore of _____.

Watch Video Solution

https://dl.doubtnut.com/l/_udU1kWKkBDvi
https://dl.doubtnut.com/l/_m5lXDGnw5Plq
https://dl.doubtnut.com/l/_xlpeTIGX4b4i
https://dl.doubtnut.com/l/_2AYM35VuFqsT


19. The correct order of relative basic character of 

and  is

Watch Video Solution

NaOH, Mg(OH)2

Al(OH)3

20. Which alkaline earth metal constitute Grignard reagent?

Watch Video Solution

21. Arrange , , BaSO_(4)` in increasing solubility in water.

Watch Video Solution

CaSO4 MgSO4

22. Name the compound of Mg, O, Cl and H used as cement for joining

cracked teeth

Watch Video Solution

https://dl.doubtnut.com/l/_Z6OUzXmrk7P9
https://dl.doubtnut.com/l/_UQkWqfB5lfld
https://dl.doubtnut.com/l/_A2XTfsr03jf9
https://dl.doubtnut.com/l/_ZG5chunSqkFU
https://dl.doubtnut.com/l/_YdvgzR1l80t7


23. Which is covalent in , NaH ?

Watch Video Solution

CaH2 BeH2

24. Name a compound of calcium and hydrogen used as a portable source

of hydrogen

Watch Video Solution

25. Name the salt which is generally given to the patient before taking

stomach X-ray.

Watch Video Solution

26. Arrange  and  in increasing order

of (i) tendency to get hydrolysed (ii) lattice energy (iii) covalent nature

Watch Video Solution

BeCl2, MgCl2, CaCl2, SrCl2 BaCl2

https://dl.doubtnut.com/l/_YdvgzR1l80t7
https://dl.doubtnut.com/l/_Oh78K9ASUJh3
https://dl.doubtnut.com/l/_7Jq3WICsoE3S
https://dl.doubtnut.com/l/_xCoT5aBjWB2v


Ncert Exeplar Problems With Solution

1. The alkali metals have low melting point. Which of the following alkali

metal is expected to melt if the room temperature rises to  ?

A. Na

B. K

C. Rb

D. Cs

Answer: D

Watch Video Solution

30∘C

2. Alkali metals react with water vigorously to form hydroxides and

dihydrogen. Which of the following alkali metals reacts with water least

vigorously ?

https://dl.doubtnut.com/l/_xCoT5aBjWB2v
https://dl.doubtnut.com/l/_I5SqBEv3a3W1
https://dl.doubtnut.com/l/_nyw62oyyhEfV


A. Li

B. Na

C. K

D. CS

Answer: A

Watch Video Solution

3. The reducing power of a metal depends on various factors. Suggest the

factor which makes Li, the strongest reducing agent in aqueous solution.

A. Sublimation enthalpy

B. Ionisation enthalpy

C. Hydration enthalpy

D. Electron-gain enthalpy

Answer: C

https://dl.doubtnut.com/l/_nyw62oyyhEfV
https://dl.doubtnut.com/l/_tbPKneYzNtAh


Watch Video Solution

4. Metal carbonates decompose on heating to give metal oxide and

carbon dioxide. Which of the metal carbonates is most stable thermally?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

MgCO3

CaCO3

SrCO3

BaCO3

5. Which of the carbonates given below is unstable in air and is kept in

 atmosphere to avoid decomposition?

A. 

CO2

BeCO3

https://dl.doubtnut.com/l/_tbPKneYzNtAh
https://dl.doubtnut.com/l/_Ed5vC1UjoFyB
https://dl.doubtnut.com/l/_vQN4zFiA9Twn


B. 

C. 

D. 

Answer: A

Watch Video Solution

MgCO3

CaCO3

BaCO3

6. Metals form basic hydroxides. Which of the following metal hydroxide

is the least basic?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Mg(OH)2

Ca(OH)2

Sr(OH)2

Ba(OH)2

https://dl.doubtnut.com/l/_vQN4zFiA9Twn
https://dl.doubtnut.com/l/_NywNmljTDg6U


7. Some of the Group 2 metal halides are covalent and soluble in organic

solvents. Among the following metal halides, the one which is soluble in

ethanol is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

BeCl2

MgCl2

CaCl2

SrCl2

8. The correct decreasing order of ionisation enthalpy of alkali metals is

A. 

B. 

Na > Li > K > Rb

Rb < Na < K < Li

https://dl.doubtnut.com/l/_NywNmljTDg6U
https://dl.doubtnut.com/l/_TwTPEETe3Rjy
https://dl.doubtnut.com/l/_ouihMKkjxuiK


C. 

D. 

Answer: C

Watch Video Solution

Li > Na > K > Rb

K < Li < Na < Rb

9. The solubility of metal halides depends on their nature, Lattice

enthalpy and hydration enthalpy of the individual ions. Amongst fluorides

of alkali metals, the lowest solubility of LiF in water is due to

A. Ionic nature of lithium fluoride

B. High lattice enthalpy

C. High hydration enthalpy for lithium ion

D. Low ionisatio enthalpy of lithium atom

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ouihMKkjxuiK
https://dl.doubtnut.com/l/_bNRJDP7dHo1U


10. Amphoteric hydroxides react with both alkalies and acids. Which of

the following Group 2 metal hydroxides is soluble in sodium hydroxide?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

BeIOH)2

Mg(OH)2

Ca(OH)2

Ba(OH)2

11. In the synthesis of sodium carbonate, the recovery of ammonia is done

by treating  with . The by-product obtained in this

process is

A. 

NH4Cl Ca(OH)2

CaCl2

https://dl.doubtnut.com/l/_bNRJDP7dHo1U
https://dl.doubtnut.com/l/_GTpCEDyxhuSL
https://dl.doubtnut.com/l/_ts1uNGkj8FRe


B. 

C. 

D. 

Answer: A

Watch Video Solution

NaCl

NaOH

NaHCO3

12. When sodium is dissolved in liquid ammonia, a solution of deep blue

colour is obtained. The colour of the solution is due to

A. ammoniated electron

B. sodium ion

C. sodium amide

D. ammoniated sodium ion

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ts1uNGkj8FRe
https://dl.doubtnut.com/l/_DBQCDjMVT0qY


13. By adding gypsum to cement

A. setting time of cement becomes less.

B. setting time of cement increases

C. colour of cement becomes light

D. shining surface is obtained

Answer: B

Watch Video Solution

14. Dead burnt plaster is

A. 

B. 

C. 

D. 

CaSO4

CaSO4 H2O
1

2

CaSO4. H2O

CaSO4.2H2O

https://dl.doubtnut.com/l/_DBQCDjMVT0qY
https://dl.doubtnut.com/l/_OObsURMzq1Q1
https://dl.doubtnut.com/l/_tSBw8j24DknQ


Answer: A

Watch Video Solution

15. Suspension of slaked lime in water is known as

A. lime water

B. quick lime

C. milk of lime

D. aqueous solution of slaked lime

Answer: C

Watch Video Solution

16. Which element does not form hydride upon heating with hydrogen?

A. Be

https://dl.doubtnut.com/l/_tSBw8j24DknQ
https://dl.doubtnut.com/l/_0HjpJSwEPq1r
https://dl.doubtnut.com/l/_3kr430c42xEL


B. Mg

C. Sr

D. Ba

Answer: A

Watch Video Solution

17. The chemical formula of soda ash is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2CO3.10H2O

Na2CO3.2H2O

Na2CO3. H2O

Na2CO3

https://dl.doubtnut.com/l/_3kr430c42xEL
https://dl.doubtnut.com/l/_cALYWvDOIILC
https://dl.doubtnut.com/l/_lPOsI9e6CB5e


18. A substance which gives brick red flame and breadks down on heating

to give oxygen and a brown gas, is

A. Magnesium nitrate

B. Calcium nitrate

C. Barium nitrate

D. Strontium nitrate

Answer: B

Watch Video Solution

19. Which of the following statements is true about ?

A. It is used in the preparation of bleaching powder

B. It is a light blue solid

C. It does not process disinfectant property

D. It is used in the manufacture of cement

Ca(OH)2

https://dl.doubtnut.com/l/_lPOsI9e6CB5e
https://dl.doubtnut.com/l/_QCwnzZS7hr5f


Answer: A

Watch Video Solution

20. A chemical A is used for the preparation of washing soda to recover

ammonia. When  is bubbled through an aqueous solution of A, the

solution turns milky. It is used in white washing due to disinfectant

nature what is the chemical formula of A?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CO2

Ca(HCO3)2

CaO

Ca(OH)2

CaCO3

https://dl.doubtnut.com/l/_QCwnzZS7hr5f
https://dl.doubtnut.com/l/_0OQIyPQY1iQY


21. Dehydration of hydrates of halides of calcium, barium and strontium

i.e., , can be achieved by

heating. These become wet on keeping in air. Which of the following

statements is correct about these halides?

A. act as dehydrating agent

B. can absorb moisture from air

C. Tendency to form hydrate decreases from calcium to barium

D. all of the above

Answer: D

Watch Video Solution

CaCI2. 6H2O, BaCI2.2H2O, SrCI2.2H2O

22. Metallic elements are described by their standard electrode potential,

fusion enthalpy, atomic size, etc. The alkali metals are characerised by

which of the following properties?

https://dl.doubtnut.com/l/_1Xh4mBZ9h55f
https://dl.doubtnut.com/l/_sZ6ggsq8dEyk


A. High boiling point

B. High negative standard electrode potential

C. High density

D. Large atomic size

Answer: B::D

Watch Video Solution

23. Several sodium compounds find use in industries. Which of the

following compounds are used for textile industry?

A. 

B. 

C. 

D. 

Answer: A::C

Na2CO3

NaHCO3

NaOH

NaCl

https://dl.doubtnut.com/l/_sZ6ggsq8dEyk
https://dl.doubtnut.com/l/_vckGoE3jokyd


Watch Video Solution

24. Which of the following compounds are readily soluble in water?

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

BeSO4

MgSO4

BaSO4

SrSO4

25. When zeolite which is hydrated sodium aluminium silicate is treated

with hard water, the sodium ions are exchanged with which of the

following ion (S)?

A.  ionsH +

https://dl.doubtnut.com/l/_vckGoE3jokyd
https://dl.doubtnut.com/l/_CHUm35oelJhP
https://dl.doubtnut.com/l/_XuM7ErEE6f8F


B.  ions

C.  ions

D.  ions

Answer: B::C

Watch Video Solution

Mg2 +

Ca2 +

SO
2 −
4

26. Identify the correct formula of halides of alkaline earth metals from

the following.

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

BaCl2.2H2O

BaCl2.4H2O

CaCl2.6H2O

SrCl2.4H2O

https://dl.doubtnut.com/l/_XuM7ErEE6f8F
https://dl.doubtnut.com/l/_BG955aLz30nt


27. Choose the correct statements from the following :

A. Beryllium is not readily attacked by acids because of the presence of

an oixde film on the surface of the metal

B. Beryllium sulphate is readily soluble in water as the greater

hydration enthalpy of  overcomes the lattice enthalpy factor.

C. Beryllium exhibits coordination number more than four.

D. Beryllium oixde is purely acidic in nature

Answer: A::B

View Text Solution

Be2 +

28. Which of the following are the correct reasons for anomlaous

behaviour of lithium?

A. Exceptionally small size of its atom

https://dl.doubtnut.com/l/_BG955aLz30nt
https://dl.doubtnut.com/l/_nK1VUkg6j1Cp
https://dl.doubtnut.com/l/_SSivFsgkoWuQ


Matching Types Questions

B. Its high polarising power

C. It has high degree of hydration

D. Exceptionally low ionisation enthalpy

Answer: A::B

Watch Video Solution

1. Match the elements given in Column I with the properties mentioned in

Column II. 

A. 

B. 

ColumnI ColumnII

A. Li 1. Insoluble sulphate

B. Na 2. Strongest monoacidic base

C. Ca 3. Most negativeE Θ value among alkali metals

D. Ba 4. Insoluble oxalate

5.6s2outer electronic configuration

Column I Column II

(a)Li (i)Insoluble sulphate

Column I Column II

(b)Na (ii)Strongest mono acidic base

https://dl.doubtnut.com/l/_SSivFsgkoWuQ
https://dl.doubtnut.com/l/_6lV4da3Y4ZJX


C. 

D. 

Answer: A-III, B-II, C-IV, D-I

Watch Video Solution

Column I Column II

(c)Ca (iii)Most negativeE É µ value among alkali metals

Column I Column II

(d)Ba (iii)Insoluble oxalate

2. Match the compounds given in Column I with their uses mentioned in

Column II. 

A. 

B. 

C. 

D. 

ColumnI ColumnII

A. CaCO3 1. Densitry ornamental work

B. Ca(OH)
2

2. Manufacture of sodium carbonate from caustic soda

C. CaO 3. Manufacure of high quality paper

D. CaSO4 4. Used in white washing

Column I Column II

(a)CaCO3 (i)Dentistry, ornamental work

Column I Column II

(b)Ca(OH)3 (ii)Manufacture of sodium carbonate from caustic sod

Column I Column II

(c)CaO (iii)Manufacture of high quality paper

Column I Column II

(d)CaSO4 (iv)Used in white washing

https://dl.doubtnut.com/l/_6lV4da3Y4ZJX
https://dl.doubtnut.com/l/_96lx2FwF0sil


Answer: A-III, B-IV, C-II, D-I

Watch Video Solution

3. Match the elements given in Column I with the colour they impart to

the flame given in Column II. 

A. N/A

B. N/A

C. N/A

D. N/A

Answer: A-VI, B-IV, C-II, D-III, E-V, F-A

Watch Video Solution

ColumnI ColumnII

A. Cs 1. Apple green

B. Na 2. Violet

C. K 3. Brick red

D. Ca 4. Yellow

E. Sr 5. Crimson red

F . Ba 6. Blue

https://dl.doubtnut.com/l/_96lx2FwF0sil
https://dl.doubtnut.com/l/_1yBvsjQpsLK9


4. Assertion (A) The carbonate of lithium decomposes easily on heating to

form lithium oxide and . 


Reason (R) Lithium being very small in size polarises large carbonate ion

leading to the formation of more stable  and .

A. Both A and R are correct and R is the correct explanation of A

B. Both A and R are correct but R is not the correct explanation of A.

C. Both A and R are not correct.

D. A is not correct but R is correct

Answer: A

Watch Video Solution

CO2

Li2O CO2

5. Assertion (A) Beryllium carbonate is kept in the atomsphere of carbon

dioxide. 

https://dl.doubtnut.com/l/_1yBvsjQpsLK9
https://dl.doubtnut.com/l/_JRhj1CO6Lm5a
https://dl.doubtnut.com/l/_NEYvFW966vD9


Complete The Following

Reason (R) Beryllium carbonate is unstable and decomposes to given

beryllium oxide and carbon dioxide.

A. Both A and R correct and R is the correct explanation of A

B. Both A and R correct but R is not the correct Explanation of A

C. Both A and R are not correct.

D. A is not correct but R is correct

Answer: D

Watch Video Solution

1. 

Watch Video Solution

Li + Na2

Heat
−−→

https://dl.doubtnut.com/l/_NEYvFW966vD9
https://dl.doubtnut.com/l/_K463RPs4N0Z5


2. The products obtained on heating  will be

Watch Video Solution

LiNO3

3. 

Watch Video Solution

NaNO3

Heat
−−→

4. 

Watch Video Solution

KO2 + H2SO4 →

5. 

Watch Video Solution

Na2O2 + H2SO4 →

6. Mg3N2 + H2O →

https://dl.doubtnut.com/l/_0zjBvpWmz7tu
https://dl.doubtnut.com/l/_FDKqW2j0mj4I
https://dl.doubtnut.com/l/_YSJ4OK88FFhE
https://dl.doubtnut.com/l/_Vzqcg8cXNohC
https://dl.doubtnut.com/l/_O07FnFTs2O2A


Watch Video Solution

7. 

Watch Video Solution

Be2C + H2C →

8. 

Watch Video Solution

CaC2 + H2O →

9. 

Watch Video Solution

BeCl2 + LiAlH4

10. 

Watch Video Solution

CaC2 + N2 →

https://dl.doubtnut.com/l/_O07FnFTs2O2A
https://dl.doubtnut.com/l/_dyzahBpF8BlM
https://dl.doubtnut.com/l/_vfTGTClEVSxd
https://dl.doubtnut.com/l/_gRXaki0UeUH0
https://dl.doubtnut.com/l/_Nj6TxZhZWoJW
https://dl.doubtnut.com/l/_b3uMsp5Vfgsn


11. 

Watch Video Solution

Be(OH)2 + 2NaOH →

12. 

Watch Video Solution

MgO + C + Cl2
Heat

−−→

13. 

View Text Solution

CaSO4.2H2O
Heat

−−→

14. 

Watch Video Solution

Mg + SO2 →

15. Mg + NO →

https://dl.doubtnut.com/l/_b3uMsp5Vfgsn
https://dl.doubtnut.com/l/_U2PCyQusht0q
https://dl.doubtnut.com/l/_xvAEKGnuWMrs
https://dl.doubtnut.com/l/_oWRHkLGTq6LR
https://dl.doubtnut.com/l/_xTdlGsfDxW26


Watch Video Solution

16. 

Watch Video Solution

Mg(NO3)2

Heat
−−→

17. 

Watch Video Solution

Ca + H2O →

18. 

Watch Video Solution

Ca(OH)2 + Cl2 →

19. 

Watch Video Solution

BeO + NaOH →

https://dl.doubtnut.com/l/_xTdlGsfDxW26
https://dl.doubtnut.com/l/_hciWzufoDj8W
https://dl.doubtnut.com/l/_V5EFejDD0aiq
https://dl.doubtnut.com/l/_nsXhS7cPWN8t
https://dl.doubtnut.com/l/_DqzI7hLyPPSj
https://dl.doubtnut.com/l/_VNpQIfYQP7v2


20. 

Watch Video Solution

BeO2 + H2SO4 →

21. Complete the following reactions : 

(i)  


(ii)  


(iii)  


(iv)  


(v) 

Watch Video Solution

CaO(S) + H2O(l) →

Na2O(S) + H2O(l) →

Fe(S) + H2O(g) →

CuO(S) + H2(g) →

CO(g) + H2(g)
Co

−−→

22. 

Watch Video Solution

KO2 _ H2O →

https://dl.doubtnut.com/l/_VNpQIfYQP7v2
https://dl.doubtnut.com/l/_NVmbQka8pAJm
https://dl.doubtnut.com/l/_uQlEtvHjtSLJ


Mcq

23. 

View Text Solution

Na2O + CO2 →

24. 

View Text Solution

CaCN2 + H2O →

25. 

View Text Solution

Mg2C3 + H2O →

26. 

View Text Solution

BeO + CCl4
Heat

−−→

https://dl.doubtnut.com/l/_L81Y0naQjG9X
https://dl.doubtnut.com/l/_RcFT4Uazdq4X
https://dl.doubtnut.com/l/_SfaDuRjg4CIM
https://dl.doubtnut.com/l/_yE9SJfsJIQxY
https://dl.doubtnut.com/l/_FdhmTr3IupcG


1. An ingredient of baking powder is-

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

NaHCO3

Na2CO3

Na2SO4

NaCl

2. Sodium reacts with water more vigorously than lithium because

A. it has higher atomic mass

B. it is more electropositive

C. it is more electronnegative

D. it is a metal

https://dl.doubtnut.com/l/_FdhmTr3IupcG
https://dl.doubtnut.com/l/_0sNcm1o48yHY


Answer: b

Watch Video Solution

3. Sodium carbonate can be manufactured by Solvay's process but

potassium carbonate cannot be prepared because :

A.  is more soluble

B.  is less soluble

C.  is more soluble than 

D.  is less soluble than 

Answer: c

Watch Video Solution

K2CO3

K2CO3

KHCO3 NaHCO3

KHCO3 NaHCO3

4. Which of the following represents correct order of decreasing reducing

nature?

https://dl.doubtnut.com/l/_0sNcm1o48yHY
https://dl.doubtnut.com/l/_dpJlEuLEUvCr
https://dl.doubtnut.com/l/_R4OBeLes9JfR


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

Li > Na > K > Rb

Rb > K > Na > Li

Rb > Li > Na > K

Li > Rb > K > Na

5. Alkali metals are charactersied by :

A. characterised colouration to flame

B. high melting points

C. low reactivity with water

D. high ionisation enthalpies

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_R4OBeLes9JfR
https://dl.doubtnut.com/l/_YYhBNqF4SA6I


6. Sodium metal can be kept under:

A. benzene

B. kerosene

C. alcohol

D. water

Answer: b

Watch Video Solution

7. A substance  is a compound of an element of group  the

substance  gives a violet colour in flame test,  is

A. NaCl

B. LiCl

C. KCl

X 1A

X X

https://dl.doubtnut.com/l/_YYhBNqF4SA6I
https://dl.doubtnut.com/l/_aPShm0sg3paF
https://dl.doubtnut.com/l/_RL6xNLc3vmJ6


D. None of these

Answer: c

Watch Video Solution

8. An element having electronic configuration is  will

form:

A. acidic oxide

B. basic oxide

C. amphoteric oxide

D. neutral oxide

Answer: b

Watch Video Solution

1s22s22p63s23P 64s1

https://dl.doubtnut.com/l/_RL6xNLc3vmJ6
https://dl.doubtnut.com/l/_uToq6o5NHasZ


9. Calcium carbide reacts with water to give ethyne or acetylene gas and

calcium hydroxide. Write the balanced chemical equation for this

reaction.

Watch Video Solution

10. Magnesium has polarising power close to that of :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

Li

Na

KCl

Cs

11. The alkaline earth metal present in Chlorophy II is :

https://dl.doubtnut.com/l/_3Bs6Ij3DuTZL
https://dl.doubtnut.com/l/_DraIdzctzlls
https://dl.doubtnut.com/l/_znrCmibRo5kD


A. Be

B. Mg

C. Se

D. Ba

Answer: b

Watch Video Solution

12. Compounds of alkaline earth metals are less soluble in water than the

corresponding alkali metal salts due to :

A. their increased covalent character

B. their high ionisation euthalpies

C. high lattice enthalpies

D. none of the above

Answer: c

https://dl.doubtnut.com/l/_znrCmibRo5kD
https://dl.doubtnut.com/l/_BzOJ3XwSXDZj


Watch Video Solution

13. A solid compound  on heating gives  gas and a residue. The

residue mixed with water form  . On passing an excess of 

through  in the water, a clear solution  is obtained. On boiling 

 compound  is reformed. The compound  is 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

'X' CO2

' Y ' CO2

' Y ' 'Z'

'Z' 'X' 'X' :

CaCO3

Na2CO3

Ca(HCO3)2

K2CO3

14. Which of the following is not an ore of magnesium?

https://dl.doubtnut.com/l/_BzOJ3XwSXDZj
https://dl.doubtnut.com/l/_7qcWburvQUFL
https://dl.doubtnut.com/l/_OtdcAVZlScON


A. Carnallite

B. Magnesite

C. Dolomite

D. Gypsum

Answer: d

Watch Video Solution

15. Which of the following metals does not form ionic hydride?

A. Ba

B. Mg

C. Ca

D. Sr

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_OtdcAVZlScON
https://dl.doubtnut.com/l/_iHo7Ep6BPWCp


Vsaq

16. Assertion : Setting of cement is an endothermic process. 

Reason : Setting of cement involves hydration and rearrangement of the

molecules of calcium aluminates and calcium silicates.

A. an oxidation process

B. a reduction process

C. a double decomposition process

D. a hydration process.

Answer: d

Watch Video Solution

1. The alkali metals have an outer electronic configuration of

Watch Video Solution

https://dl.doubtnut.com/l/_iHo7Ep6BPWCp
https://dl.doubtnut.com/l/_8okvXeLldaVz
https://dl.doubtnut.com/l/_i1e7iYOD4TiF


Watch Video Solution

2. Why are alkali metals so named?

Watch Video Solution

3. Which of the following carbonates does not evolve  on heating ?

Watch Video Solution

CO2

4. Write the name of alkali metal with polarising power close to that of

magnesium.

Watch Video Solution

5. Why are alkali metals difficult to be reduced?

Watch Video Solution

https://dl.doubtnut.com/l/_i1e7iYOD4TiF
https://dl.doubtnut.com/l/_Dbf6GFRkbuDz
https://dl.doubtnut.com/l/_lUqRwritf8t9
https://dl.doubtnut.com/l/_LPdVOJ0mOJkg
https://dl.doubtnut.com/l/_aIxoYBmXajoV


6. Which is the strongest reducing agent among alkali metals?

Watch Video Solution

7. Which is more basic NaOH or KOH?

Watch Video Solution

8. What is the nature of compounds of lithium?

Watch Video Solution

9. Which is responsible for the blue colour of alkali metals in liquid

ammonia?

Watch Video Solution

https://dl.doubtnut.com/l/_LtixFPEPQyR8
https://dl.doubtnut.com/l/_EfWxtzEq9iw5
https://dl.doubtnut.com/l/_Mppa6X0ay5hI
https://dl.doubtnut.com/l/_UsyVoY6RJ8Eb


10. Name the radioactive element of group 1

Watch Video Solution

11. What will happen when soidum is exposed to moist air?

Watch Video Solution

12. What is soda ash?

Watch Video Solution

13. Complete and balance the following chemical equations: 

(a).  


(b)  


(c).  


(d) .

NaCl(aq) + H2O(l)
Electricity
−−−−−→

NaHCO3

Heat
−−→

NaCl + NH3 + H2O + CO2 →

Ca(OH)2 + Cl2 →

https://dl.doubtnut.com/l/_s9wh3IdqqSm2
https://dl.doubtnut.com/l/_JRz6msxf0bd5
https://dl.doubtnut.com/l/_Q4E2wvDafZfE
https://dl.doubtnut.com/l/_dmhRtDEhWwrG


Watch Video Solution

14. Does `Na_(2)CO_(3) decompose on heating?

Watch Video Solution

15. Name the process used in the manufacture of .

Watch Video Solution

Na2CO3

16. What is the correct sequence of alkali metals in a group?

Watch Video Solution

17. why are the element of group - 2 called alkaline earths ?

Watch Video Solution

https://dl.doubtnut.com/l/_dmhRtDEhWwrG
https://dl.doubtnut.com/l/_5Ot5fPW5kirh
https://dl.doubtnut.com/l/_YchO2coINeA7
https://dl.doubtnut.com/l/_VxdgUxLaKKTY
https://dl.doubtnut.com/l/_03YDoSo9350m
https://dl.doubtnut.com/l/_gG7xU8nFmIh6


18. Sodium is more electropositive than magnesium.

Watch Video Solution

19.  and  atoms do not impart colour to the flame.

Watch Video Solution

Be Mg

20. What is the chemical formule of dolomte ?

Watch Video Solution

21. Arrange the following in decreasing order of ionic character .

Watch Video Solution

CaCl2, BeCl2BaCl2

https://dl.doubtnut.com/l/_gG7xU8nFmIh6
https://dl.doubtnut.com/l/_lViZnthCuyqJ
https://dl.doubtnut.com/l/_VnwYQIldqzYP
https://dl.doubtnut.com/l/_zBmrHro2daGG


22. Arrange the following in decreasing order of solubility in Water. 

(i) . 


(ii) .

Watch Video Solution

Be(OH)2, Ca(OH)2, Ba(OH)2, Sr(OH)2

BaSO4, MgSO4, CaSO4, SrSO4

23. Sorel's cement is

Watch Video Solution

24. What happens chemically when quick lime is added to water ?

Watch Video Solution

25.  on heating gives anhydrous .

Watch Video Solution

MgCl2.6H2O MgCl2

https://dl.doubtnut.com/l/_urJRPuLlAxFn
https://dl.doubtnut.com/l/_tnD07RMiWwAJ
https://dl.doubtnut.com/l/_5vJww1uAUGHP
https://dl.doubtnut.com/l/_EcBqMd2YLEDu
https://dl.doubtnut.com/l/_UFMObqbhCtH6


Saq

26. Formula of gypsum salt is

Watch Video Solution

27. How many  Molecules are present in a molecule of plaster of

parid ?

Watch Video Solution

H2O

28. The alkaline earth metals, which do not impart any colour to Bunsen

flame are :

Watch Video Solution

1. What are alkali metals kept in Kerosene?

https://dl.doubtnut.com/l/_UFMObqbhCtH6
https://dl.doubtnut.com/l/_9kkEAhDbu8DP
https://dl.doubtnut.com/l/_Z4gPXNOFiWDS
https://dl.doubtnut.com/l/_xy8sJGLKsR02


Watch Video Solution

2. Alkali metals have low ionisation energies. Explain.

Watch Video Solution

3. Explain why cesium and not sodium is used in photo electric cell?

Watch Video Solution

4. In aqueous solution,  ion has the least mobility among alkali

metals. Why?

Watch Video Solution

Li+

5. Why do alkali metals form unipositive ions and impart characteristic

colours to flame?

W t h Vid S l ti

https://dl.doubtnut.com/l/_xy8sJGLKsR02
https://dl.doubtnut.com/l/_nBviXepUVY6n
https://dl.doubtnut.com/l/_Alqf1t3ngdHq
https://dl.doubtnut.com/l/_O3N8abr5kyOc
https://dl.doubtnut.com/l/_aWu2JSbgR6c1


Watch Video Solution

6. Complete the following : 

(i)  


(ii)  


(iii) 

Watch Video Solution

Li + CH ≡ CH →

Na + O2 →

LiOH
Heat

−−→

7. Why do alkali metals dissolve in liquid ammonia to form blue solution

which is conducting in nature?

Watch Video Solution

8. Lithium forms monoide, sodium gives peroxide while the rest of the

alkali form superoxides. Explain

Watch Video Solution

https://dl.doubtnut.com/l/_aWu2JSbgR6c1
https://dl.doubtnut.com/l/_k9IKHh1MmJRf
https://dl.doubtnut.com/l/_uBpmRoQz8BnH
https://dl.doubtnut.com/l/_UL9EtKolJ4vM
https://dl.doubtnut.com/l/_IR7SVOYk6BVZ


9. Strengths of the bases increases from LiOH to CsOH. Justify.

Watch Video Solution

10. Alkali metal ions are colourless as well as diamagnetic. Explain

Watch Video Solution

11. Sodium metal can be used to dry diethyl ether and not ethyl alcohol.

Why?

Watch Video Solution

12. Sodium is perpared by the eletrclysis of molten NaCl but not by the

electrolysis of its aqueous solution.

Watch Video Solution

https://dl.doubtnut.com/l/_IR7SVOYk6BVZ
https://dl.doubtnut.com/l/_mOoCaIHcv7bj
https://dl.doubtnut.com/l/_Glqo1h78ZZVu
https://dl.doubtnut.com/l/_hkDL7r2Ykd6X
https://dl.doubtnut.com/l/_e6ZQfbOZIfrH


13. Give two important uses of washing soda and baking soda.

Watch Video Solution

14. Assign reasons for the following 

(i) alkali metals impart characteristic colour to flame 

(ii) Alkali metals are strong reducing agents. 

(iii) An aqueous solution of  is basic in nature.

Watch Video Solution

Na2CO3

15. Explain the trends in the solubility of carbonates , sulphates and

hydroxides of alkaline earth metals.

Watch Video Solution

16.  value of Mg more than that of Na while its  value is less .

Explain.

ΔiH1 ΔiH2

https://dl.doubtnut.com/l/_e6ZQfbOZIfrH
https://dl.doubtnut.com/l/_aaADb1WYGLHN
https://dl.doubtnut.com/l/_1igPEWGj4dQj
https://dl.doubtnut.com/l/_o9vDu5h7hBJ5


Watch Video Solution

17. Discuss the structure of beryllium chloride in different states.

Watch Video Solution

18. What is diagonal relationship? Why does  resemble with ?

Watch Video Solution

Li Mg

19. How will you prepare anhydrous magnesium chloride from sea water ?

Watch Video Solution

20. How is gypsum converted into plaster of paris ? Why is plaster of paris

helpful in setting broken bones?

Watch Video Solution

https://dl.doubtnut.com/l/_o9vDu5h7hBJ5
https://dl.doubtnut.com/l/_GWm16UeZk4Xj
https://dl.doubtnut.com/l/_bMi5ewrNbFS7
https://dl.doubtnut.com/l/_9whxqx56xqV7
https://dl.doubtnut.com/l/_au83otb9megk


21. Describe with the help of chemical equations what happens when : 

(i) Lime stone is heated.

(ii) water is dropped on quick lime . 

(iii) gypsum is heated to 473 k.

Watch Video Solution

22. write the important uses of Gypsum and plaster of paris.

Watch Video Solution

23. Beryllium and magnesium do not give colour to flame whereas other

alkaline eath metals do so. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_au83otb9megk
https://dl.doubtnut.com/l/_I4sQvdl3Tj5Y
https://dl.doubtnut.com/l/_DTCHtML53yst
https://dl.doubtnut.com/l/_OrFrzICwGlYg


24. state any one reason for alkaline earth metals ions in general to have

a greater tendency to from complexes than the alkali metals .

Watch Video Solution

25. What is the structure of  molecule in gaseous and solid state?

Watch Video Solution

BeCI2

26. What is the difference between quick lime, slaked lime, milk of lime

and lime water ? 

(ii) How is gypsum prepared in the labor atory? How is it converted into

plaster of Pairs?

Watch Video Solution

27. What is diagonal relationship? Why does  resemble with ?Li Mg

https://dl.doubtnut.com/l/_5SCA6z1waXic
https://dl.doubtnut.com/l/_Q0p9g7bJAydA
https://dl.doubtnut.com/l/_SQkeFZ7TJxu9
https://dl.doubtnut.com/l/_EfDpZrwMufQX


Watch Video Solution

28. Beryllium differs from rest of the memebers of group-2 in many

characteristics. Explain with suitable examples to support this statement.

Watch Video Solution

29. Describe the importance of the following: (a) limestone, (b) cement

and ( c) plaster of Paris.

Watch Video Solution

30. Complete the following : 

(i)  (ii)  


(iii)  (iv) 

Watch Video Solution

Ca + H2O Ca(OH)2 + Cl2

BeO + NaOH BaO2 + H2SO4

https://dl.doubtnut.com/l/_EfDpZrwMufQX
https://dl.doubtnut.com/l/_J80CHFAn8MYC
https://dl.doubtnut.com/l/_7MysN9g5Yhgc
https://dl.doubtnut.com/l/_ezazlx6uJbvd


Laq

1. What is baking soda? Write the chemical name of baking soda. Give the

important uses of baking soda. How does baking soda differ chemically

from washing soda?

Watch Video Solution

2. How is  manufactured by solvey Ammonia process? Discuess in

brief its important characteristics.

Watch Video Solution

Na2CO3

3. Discuss the important characteristics in which Li differs from other

alkali metals

Watch Video Solution

https://dl.doubtnut.com/l/_wYI6CP2YUQvY
https://dl.doubtnut.com/l/_7UF8M9Q8Yyps
https://dl.doubtnut.com/l/_FqEca5TgN2HG


4. What happens when 

a. Sodium metal is dropped in water? 

b. Sodium metal is heated in free supply of air? 

c. Sodium peroxide dissolves in water?

Watch Video Solution

5. Write balanced equations for reactions between 

a.  and water 


b.  and water 


c.  and 

Watch Video Solution

Na2O2

KO2

Na2O CO2

6. In Castner-Kellner cell, sodium hydroxide is formed in the central

compartment.

Watch Video Solution

https://dl.doubtnut.com/l/_QBaNgWraFvBH
https://dl.doubtnut.com/l/_8tXQOhisPfky
https://dl.doubtnut.com/l/_nXD3auPT2C02


Mcqb

1. Compared with the alkaline earth metals, the alkali metals exhibit

A. smaller ionic radii

B. Higher boiling points

C. Greater hardness

D. Lower ionisation enthalpies

Answer: D

Watch Video Solution

2. Which is maximum basic in the following ?

A. 

B. 

C. 

Na2O

BaO

As2O3

https://dl.doubtnut.com/l/_UvVuyHirPu4K
https://dl.doubtnut.com/l/_xNbIS0oqnX4f


D. 

Answer: A

Watch Video Solution

Al2O3

3. Micro-cosmic salt is :

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

Na2HPO4.2H2O

(NH4)2HPO42H2O

Na(NH4)HPO4. 4H2O

4. Which of the following has the highest lattice energy ?

https://dl.doubtnut.com/l/_xNbIS0oqnX4f
https://dl.doubtnut.com/l/_l6zUiGAIOS7b
https://dl.doubtnut.com/l/_O4FUzV5VuuHh


A. RbF

B. CsF

C. NaF

D. KF

Answer: C

Watch Video Solution

5. The affinity of sodium with water is used in

A. drying of alcohols

B. drying of ammonia

C. drying benene

D. drying most of the compounds

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_O4FUzV5VuuHh
https://dl.doubtnut.com/l/_o1HFQdRiE7nn


6. Which is maximum reactive towards water ?

A. Li

B. K

C. Na

D. Rb

Answer: D

Watch Video Solution

7. Which has the maximum electropositive character ?

A. Cu

B. Cs

C. Ba

https://dl.doubtnut.com/l/_o1HFQdRiE7nn
https://dl.doubtnut.com/l/_cPPu7WZLYgcy
https://dl.doubtnut.com/l/_lOASb9aNuO9z


D. Cr

Answer: B

Watch Video Solution

8. The electronic configuration of metal M is  The formula

of its oxide will be :

A. MO

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s22s22p63s1.

M2O

M2O3

MO2

https://dl.doubtnut.com/l/_lOASb9aNuO9z
https://dl.doubtnut.com/l/_J9MiVrwwRZ2T


9. The stability of the following alkali metal chlorides follows the order:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

LiCI > KCI > NaCI > CsCI

CsCI > KCI > NaCI > LiCI

NaCl > KCI > LiCI > CsCI

KCI > CsCI > NaCI > LiCI

10. which has the maximum m.p ?

A. NaCl

B. NaF

C. NaBr

D. Nal

https://dl.doubtnut.com/l/_0sovaG1aI89A
https://dl.doubtnut.com/l/_T9sRn6bvr4Eo


Answer: B

Watch Video Solution

11. Which electronic configuration corresponds to least ionisation energy?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1s22s22p2

1s22s22p5

1s22s22p6

1s22s22p23s1

12. Which is formed with lithium is heated in air?

A. only LiO2

https://dl.doubtnut.com/l/_T9sRn6bvr4Eo
https://dl.doubtnut.com/l/_e7GzndsM4FCb
https://dl.doubtnut.com/l/_CZQaVtywkqcS


B. only 

C. Both  and 

D. 

Answer: C

Watch Video Solution

Li3N

Li2O2 Li3N

13. What types of ions are present in anhydrous mixture of KF and HF ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K + , H + , F −

(KF ) + , (HF ) −

KH + , F −

K + , (HF ) −

https://dl.doubtnut.com/l/_CZQaVtywkqcS
https://dl.doubtnut.com/l/_RCQbESaWGz68
https://dl.doubtnut.com/l/_H8ifmW3xZOxk


14. Sodium gives blue colour in  solution. This blue colour is due to

A. ammoniated 

B. 

C. ammoniated 

D.  pair.

Answer: C

Watch Video Solution

NH3

Na+

ammoniatedNa−

e−

Na+ /N −

15. When washing soda is heated.

A. CO is released

B.  is released

C.  is released

D. Water vapours are released.

CO + CO2

CO2

https://dl.doubtnut.com/l/_H8ifmW3xZOxk
https://dl.doubtnut.com/l/_NLYIJUrrBUnQ


Answer: D

Watch Video Solution

16. Which sulphate has the highest solubility in water ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

BaSO4

CaSO4

BeSO4

MgSO4

17. Ba,Sr,Ca and Mg may be arranged in order of decreasing first

ionisation energy  as :(IE1)

https://dl.doubtnut.com/l/_NLYIJUrrBUnQ
https://dl.doubtnut.com/l/_kvXflluk37CC
https://dl.doubtnut.com/l/_qU2E7QnEgnsx


A. Mg,Ca,Sr,Ba

B. Ca,Sr,Ba,Mg

C. Sr,Ba,Mg,Ca

D. Ba,Mg,Ca,Sr

Answer: A

Watch Video Solution

18. Which is the correct order of increasing basic strength?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MgO < BeO < CaO < BaO

Ca < Sr < Ba < Mg

Be < CaO < MgO < BeO

CaO < BaO < BeO < MgO

https://dl.doubtnut.com/l/_qU2E7QnEgnsx
https://dl.doubtnut.com/l/_nVy52r5C6ihA


19. Electronic configuration calcium atom can be written as

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Ne]4p2

[Ar]4s2

[Kr]4p2

[Kr]4p2

20. The most electropositive amongst the alkaline earth metals is:

A. Beryllium

B. Magnesium

C. Calcium

https://dl.doubtnut.com/l/_nVy52r5C6ihA
https://dl.doubtnut.com/l/_y0dutSgaAItb
https://dl.doubtnut.com/l/_tQnMbWTUj4lz


D. Barium

Answer: D

Watch Video Solution

21. Which imparts brick red colour to the flame ?

A. Be

B. Mg

C. Ca

D. Sr

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tQnMbWTUj4lz
https://dl.doubtnut.com/l/_vj7VBcrmxGZo


22. All the following substances react with water. The pair that gives the

same gaseous product is

A. K and 

B. Na and 

C. Ca and 

D. Ba and 

Answer: C

Watch Video Solution

KO2

Na2O2

CaH2

BaO2

23. Which of the following metal ions plays an important role in muscle

contraction?

A. 

B. 

C. 

K +

Na+

Mg2 +

https://dl.doubtnut.com/l/_sHYaEnTkmfp1
https://dl.doubtnut.com/l/_U7rtTpBMDIY3


D. 

Answer: D

Watch Video Solution

Ca2 +

24. The correct order of increasing thermal stability of

 and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K2CO3, MgCO3, CaCO3, BeCO3

I < II < III < IV

IV < II < III < I

IV < II < I < III

II < IV < III < I

https://dl.doubtnut.com/l/_U7rtTpBMDIY3
https://dl.doubtnut.com/l/_p3GvLRrLjDxE


25. The strongest base in the following is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Al(OH)3

Mg(OH)2

Ca(OH)2

Ba(OH)2

26. The hydroxide which is max, soluble in water is ?

A. 

B. 

C. 

D. 

Ba(OH)2

Mg(OH)2

Sr(OH)2

Ca(OH)2

https://dl.doubtnut.com/l/_KbzloNeaA4ZU
https://dl.doubtnut.com/l/_BlB05PhNpbeg


Answer: A

Watch Video Solution

27. Chemical A is used for water softening to remove temporary hardness.

A reacts with sodium carbonate to generate caustic soda. When  is

bubbled through a solution of A, it turns cloudy. What is the chemical

formula of A ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CO2

CaCO3

CaO

Ca(OH)2

Ca(HCO3)2

https://dl.doubtnut.com/l/_BlB05PhNpbeg
https://dl.doubtnut.com/l/_D672CaAnp3Ed


28. Calcium carbide on hydrolysis forms :

A. ethane

B. ethylene

C. methane

D. acetylene

Answer: D

Watch Video Solution

29. As the alkaline earth metals (except Be) tend to lose their valence

electrons readily they act as

A. weak oxidising agents

B. weak reducing agents

C. strong oxidising agent

D. strong reducing agents bases

https://dl.doubtnut.com/l/_RUSbpJZca2eZ
https://dl.doubtnut.com/l/_eO5YHp4AhbC4


Answer: D

Watch Video Solution

30. Initial setting of cement is mainly due to

A. dehydration and gel formation

B. dehydration and gel formation

C. dehydration and dehydroylsis

D. hydration and oxidation

Answer: A

View Text Solution

31.  is depolar, wheras  is not. it because

A. The electronegativity of F is greater than that of O.

H2O BeF2

https://dl.doubtnut.com/l/_eO5YHp4AhbC4
https://dl.doubtnut.com/l/_Bo7zzZTH13Ku
https://dl.doubtnut.com/l/_2Zp8F538XqtU


B.  involves hydrogen bonding whereas  is discrete

molecule.

C.  is linear and  is angular

D.  is angular and  is linear

Answer: D

Watch Video Solution

H2O BeF2

H2O BeF2

H2O BeF2

32. The correct sequence of increasing covalent character is represented

by

A. 

B. 

C. 

D. 

Answer: C

LiCl < NaCl < BeCl2

BeCl2 < LiCl < Nacl

NaCl < LiCl < BeCl2

BeCl2 < NaCl < LiCl

https://dl.doubtnut.com/l/_2Zp8F538XqtU
https://dl.doubtnut.com/l/_WTWDzJMBeA4T


Watch Video Solution

33. The correct order of mobility of alkali metal ions in aqueous solution

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Rb+ > K + > Na+ > Li+

Li+ > Na+ > K + > Rb+

Na+ > K + > Rb+ > Li+

K + > Rb+ > Na+ > Li+

34. The correct order of increasing thermal stability of

 and  is

A. 

K2CO3, MgCO3, CaCO3, BeCO3

BeCO3 < MgCO3 < CaCO3 < K2CO3

https://dl.doubtnut.com/l/_WTWDzJMBeA4T
https://dl.doubtnut.com/l/_Kl9VbT3NMZrg
https://dl.doubtnut.com/l/_7s0Hj1k9vKp4


B. 

C. 

D. 

Answer: A

Watch Video Solution

MgCO3 < BeCO3 < CaCO3 < K2CO3

K2CO3 < MgCO3 < CaCO3 < BeCO3

BeCO3 < MgCO3 < K2CO3 < CaCO3

35. The alkali metals form salt like hydrides by the direct synthesis at

elevated temperature. The termal stability of these hydrides decreases in

which of the following orders ?

A. 

B. 

C. 

D. 

Answer: B

NaH > LiH > KH > RbH > CsH

LiH > NaH > KH > RbH > CsH

Csh > RbH > KH > NaH > LiH

KH > NaH > LiH > CsH > RbH

https://dl.doubtnut.com/l/_7s0Hj1k9vKp4
https://dl.doubtnut.com/l/_vf4W5CGVNByR


Watch Video Solution

36. Which of the following oxides is not expected to react with sodium

hydroxide ?

A. CaO

B. 

C. BeO

D. 

Answer: A

Watch Video Solution

SiO2

B2O3

37. Which one of the following alkaline earth metal sulphates has its

hydration enthalpy greater than its lattice enthalpy?

A. CaSO4

https://dl.doubtnut.com/l/_vf4W5CGVNByR
https://dl.doubtnut.com/l/_5W05A9x0Xyy6
https://dl.doubtnut.com/l/_OCIePlmGBiq2


B. 

C. 

D. 

Answer: B

Watch Video Solution

BeSO4

BaSO4

SrSO4

38. Which one of the alkaline earth metal carbonates is thermally the

most stable?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

MgCO3

CaCO3

SrClO3

BaCO3

https://dl.doubtnut.com/l/_OCIePlmGBiq2
https://dl.doubtnut.com/l/_PTpAWrfmatbx


39. Which one of the alkali metals forms only the normal oxide, , on

heating in air ?

A. Rb

B. K

C. Li

D. Na

Answer: C

Watch Video Solution

M2O

40. The ease of adsorption of the hydrated alkali metal ions on ion-

exchange resins follows the order:

A. 

B. 

Li+ < K + < Na+ < Rb+

Rb+ < K + < Na+ < Li+

https://dl.doubtnut.com/l/_PTpAWrfmatbx
https://dl.doubtnut.com/l/_JXU4rLBpQEMb
https://dl.doubtnut.com/l/_7zaWGax8mMDq


C. 

D. 

Answer: B

Watch Video Solution

K + < Na+ < Rb+ < Li+

Na+ < Li+ < K + < Rb+ )

41. Which of the following alkaline earth metal ions has the highest ionic

mobility in aqueous solution?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Be2 +

Ca2 +

Ba2 +

Mg2 +

https://dl.doubtnut.com/l/_7zaWGax8mMDq
https://dl.doubtnut.com/l/_MkYPTIQXS1rb
https://dl.doubtnut.com/l/_MITkVaanR8lw


42. In the reaction,  (superoixde) the metal M is :

A. Lithium

B. Sodium

C. Potassiumm

D. Barium

Answer: C

Watch Video Solution

M + CO2 → MO2

43. Which of the following metals cannot give flame test ?

A. Be

B. Na

C. K

D. Ca

https://dl.doubtnut.com/l/_MITkVaanR8lw
https://dl.doubtnut.com/l/_GoC53JsRba3g


Answer: A

Watch Video Solution

44. The function of Sodium pump is a biological process operating in

each and every cell of all animals. Which of the following biologicaly

important ions is also constant f this pump ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K +

Fe2 +

Ca2 +

Mg2 +

https://dl.doubtnut.com/l/_GoC53JsRba3g
https://dl.doubtnut.com/l/_xw6qlHecZj3o


45. The correct order of the solubility of alkaline- earth metal sulphates in

water is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Sr > Ca > Mg > Ba

Ba > Mg > Sr > Ca

Mg > Ca > Sr > Ba

Ca > Sr > Ba > Mg

46. Which of the following statements is false ?

A.  ion are not important in maintaing the regular beating of

the heart

B.  ions are are important in the green parts of the plants

C.  ions form a complex with ATP

Ca2 +

Mg2 +

Mg2 +

https://dl.doubtnut.com/l/_wlGacohN6kTv
https://dl.doubtnut.com/l/_6Wm5tBjd7RN6


Jee Main

D.  ions are important in blood clotting

Answer: A

Watch Video Solution

Ca2 +

47. The product obtained a result of a reaction of nitrogen with  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CaC2

CaCN3

Ca2CN

CaCN2

CaCN

https://dl.doubtnut.com/l/_6Wm5tBjd7RN6
https://dl.doubtnut.com/l/_SBTfqZBvw7qL
https://dl.doubtnut.com/l/_xhb2Qu2SnrMg


1. Which of the following is the strongest base ?

A. LiOH

B. NaOH

C. KOH

D. CsOH

Answer: D

Watch Video Solution

2. Which of the following oxides is formed when potassium metal is burnt

in excess air ?

A. 

B. 

C. 

D. 

K2O

KO

KO2

K2O2

https://dl.doubtnut.com/l/_xhb2Qu2SnrMg
https://dl.doubtnut.com/l/_Ug4lS59vrKaT


Answer: C

Watch Video Solution

3. Which has the maximum ksp value ?

A. KOH

B. CsOH

C. LiOH

D. RbOH

Answer: B

Watch Video Solution

4. Which of the following compounds has the lowest anion to cation size

ratio ?

https://dl.doubtnut.com/l/_Ug4lS59vrKaT
https://dl.doubtnut.com/l/_JaHDvHCGYBDX
https://dl.doubtnut.com/l/_Cum52yIusCpa


A. LiF

B. NaF

C. CsI

D. CsF

Answer: D

Watch Video Solution

5. The alkali metal that reacts with nitrogen directly to form nitride is

A. Li

B. Na

C. K

D. Rb

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Cum52yIusCpa
https://dl.doubtnut.com/l/_6z8SUoHFxTTf


6. Which statement is false in case of alkali metals ?

A. Lithium is the strongest reducing agent

B. Sodium is amphoteric in nature

C.  ion is exceptionally small

D. All alkali metals give blue colour in liquid ammonia

Answer: B

Watch Video Solution

Li+

7. A sodium fire in the laboratory is extinguished by

A. 

B. sand

C. water

CI4

https://dl.doubtnut.com/l/_6z8SUoHFxTTf
https://dl.doubtnut.com/l/_dRTapHPKxUwP
https://dl.doubtnut.com/l/_OxNx68mWp0U7


D. kerosene

Answer: A

Watch Video Solution

8. Diagonal Relationship Of Lithium With Magnesium

A. Magnesium

B. Beryllium

C. Aluminium

D. Boron

Answer: A

Watch Video Solution

9. Alkali metals are generally extracted by electrolysis of their ores.

https://dl.doubtnut.com/l/_OxNx68mWp0U7
https://dl.doubtnut.com/l/_HTLrjf98k06M
https://dl.doubtnut.com/l/_2Px1mgZBeBDY


A. Reduction methods

B. Double decomposition methods

C. Displacement methods

D. Electrolytic methods

Answer: D

Watch Video Solution

10.  ions impart violet colour to Bunsen flame. This is due to the fact

that the emitted radiations are of

A. High energy

B. Low energy

C. Longer wavelength

D. None of the three

Answer: B

Cs+

https://dl.doubtnut.com/l/_2Px1mgZBeBDY
https://dl.doubtnut.com/l/_O0FZIShRN0SB


Watch Video Solution

11. When dry ammonia gas is passed over heated sodium (out of contact

of air) the product forms is

A. Sodium amide

B. Sodium azide

C. Sodium nitride

D. Sodium hydride

Answer: A

Watch Video Solution

12. Which of the following alkali metal ions has the lowest ionic mobility

in aqueous solutions?

A. Rb+

https://dl.doubtnut.com/l/_O0FZIShRN0SB
https://dl.doubtnut.com/l/_v3sjjSQWdERs
https://dl.doubtnut.com/l/_4i5Lxit8OUEr


B. 

C. 

D. 

Answer: C

Watch Video Solution

Cs+

Li+

Na+

13. lithium has highest ionisation energy but is strongest reducing agent

in solution because of its

A. Ionisation enregy

B. Electric affinity

C. Hydration energy

D. Lattice energy

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4i5Lxit8OUEr
https://dl.doubtnut.com/l/_d7JRySVfxfib


14. Alkali metals have high oxidation potential and hence they behave as :

A. oxidising agents

B. Lewis bases

C. reducing agents

D. electrolytes

Answer: C

Watch Video Solution

15. Based on lattice energy and other considerations which one of the

following alkali metal chlorides is expected to have the highest melting

point

A. LiCI

B. NaCI

https://dl.doubtnut.com/l/_d7JRySVfxfib
https://dl.doubtnut.com/l/_LUivxDYy7qHD
https://dl.doubtnut.com/l/_jNDb5WQmUIW1


C. KCI

D. RbC

Answer: B

Watch Video Solution

16. The correct order of solubility of the sulphates of alkaline earth metals

in water is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Be > Ca > Mg > Ba > Sr

Mg > Be > Ba > Ca > Sr

Be > Mg > Ca > Sr > Ba

Mg > Ca > Ba > Be > Sr

https://dl.doubtnut.com/l/_jNDb5WQmUIW1
https://dl.doubtnut.com/l/_C8gPbHxHIIIp
https://dl.doubtnut.com/l/_s2vXH8F1WsMM


17. Among  and  the compound with the

greatest and least ionic character respectively are

A. LicCI and RbCI

B. RbCI and 

C. RbCI and 

D.  and 

Answer: B

Watch Video Solution

LiCI, RbCI, BeCI2 MgCI2

BeCI2

MgCI2

MgCI2 BeCI2

18. White heavy precipitates are formed when  is added to a clear

solution of compound A. Precipitates are insoluble in dilute HCl. Then, the

compound A is :

A. A nitrate

B. A bromide

BaCl2

https://dl.doubtnut.com/l/_s2vXH8F1WsMM
https://dl.doubtnut.com/l/_Nm48r758PwkQ


C. A sulphate

D. A carbonate

Answer: C

Watch Video Solution

19. Which will liberate hydrogen on reacting with hydrochloric acid ?

A. Copper

B. Phosphours

C. Mercury

D. Magnesium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Nm48r758PwkQ
https://dl.doubtnut.com/l/_6qD4sIvA0gPR


20. A metal  on heating in nitrogen gas gives  on treatment with 

 gives a colourless gas which when passed through  solution

gives a blue colour.  is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X Y , Y

H2O CuSO4

Y

Mg(NO3)2

Mg3N2

NH3

MgO

21. Formula of gypsum is  and of plaster of parts is 

, then (x- y) is equal to

A. 0

B. 1

CaSO4. xH2

(2CaSO4). yH2O

https://dl.doubtnut.com/l/_YqvG7uvZhuyY
https://dl.doubtnut.com/l/_FcTgeU9Ft4g4


C. 3

D. 

Answer: A

Watch Video Solution

5/2

22. The substance not likely to contain  is:

A. sea shells

B. dolomite

C. a marble statue

D. Calcined gypsum

Answer: D

Watch Video Solution

CaCO3

https://dl.doubtnut.com/l/_FcTgeU9Ft4g4
https://dl.doubtnut.com/l/_syWCOznMGMst


23. The ionic mobility of alkali metal ions in aqueous solution is maximum

for:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K +

Rb+

Li+

Na+

24. The charge/size ratio of a cation determines its polarising power.

Which one of the following sequeces represents the increasing order of

the polarising power of the cationic species, ?

A. 

B. 

K + , Ca2 + , Mg2 + , Be2 +

Ca2 + < Mg2 + < Be+ < K +

Mg2 + < Be2 + < K + < Ca2 +

https://dl.doubtnut.com/l/_U8orsDcW1vuI
https://dl.doubtnut.com/l/_7IztNCV5tDeE


C. 

D. 

Answer: D

Watch Video Solution

Be2 + < K + < Ca2 + < Mg2 +

K + < Ca2 + < Mg2 + < Be2 +

25. The set representing the correct order of ionic radius is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Li+ > Be2 + > Na+ > Mg2 +

Na+ > Li+ > Mg2 + > Be2 +

Li+ > Na+Mg2 + > Be2 +

Mg2 + > Be2 + > Li+ > Na+

https://dl.doubtnut.com/l/_7IztNCV5tDeE
https://dl.doubtnut.com/l/_3r0cVqSTIQWs


26. Which of the following on thermal decomposition yields a basic as wel

as acidic oxide?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KCIO3

CaCO3

NH4NO3

NaNO3

27. The correct statement for the molecule,  is

A. It is a covalent molecule

B. It contains  and  ions

C. It contains  and  ions

D. It contains  and lattice molecule

CsI3

Cs+ I −
3

Cs3 + I −

Cs+ , I −

https://dl.doubtnut.com/l/_27MAbt0agCAB
https://dl.doubtnut.com/l/_2BlHip9GwdDw


Answer: B

Watch Video Solution

28. A metallic oxide reacts with water to form its hydroxide hydrogen

peroxide and also liberates oxygen. The metallic oxide could be :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CaO

KO2

Li2O

Na2O2

29. Monovalent sodium and postassium ions, bivalent magnesium and

calcium ions are found in :

https://dl.doubtnut.com/l/_2BlHip9GwdDw
https://dl.doubtnut.com/l/_olNIEuGCsF4H
https://dl.doubtnut.com/l/_b0iY8GtChweh


A. lipids

B. fats

C. enzymes

D. biological fluids

Answer: D

Watch Video Solution

30. Amongest the following, select the element, with highest ionization

enthalpy

A. Sodium amide

B. Potassium

C. Beryllium

D. Magnesium

Answer: C

https://dl.doubtnut.com/l/_b0iY8GtChweh
https://dl.doubtnut.com/l/_f65epiT2w5rm


Watch Video Solution

31. Which one of the following alkaline earth metal sulphates has its

hydration enthalpy greater than its lattice enthalpy?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BaSO4

SrSO4

CaSO4

BeSO4

32. The pair of compounds which cannot exist in solution is:

A.  and 

B.  and 

NaHCO3 H2O

Na2CO3 NaOH

https://dl.doubtnut.com/l/_f65epiT2w5rm
https://dl.doubtnut.com/l/_UDDr7K1mBm5S
https://dl.doubtnut.com/l/_340wzCgSbnpv


C.  and 

D.  and 

Answer: C

Watch Video Solution

NaHCO3 NaOH

NaHCO3 Na2CO3

33. A solid compound  on heating gives  gas and a residue. The

residue mixed with water form  . On passing an excess of 

through  in the water, a clear solution  is obtained. On boiling 

 compound  is reformed. The compound  is 

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

'X' CO2

' Y ' CO2

' Y ' 'Z'

'Z' 'X' 'X' :

Ca(HCO3)2

CaCO3

Na2CO3

K2CO3

https://dl.doubtnut.com/l/_340wzCgSbnpv
https://dl.doubtnut.com/l/_8PabHGGIz2sZ


Watch Video Solution

34. In which of the following pairs, each member produces the same gas

when reacted with water?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K, KO2

Na, Na2O2

Ca, CaH2

Ba, BaO2

35. Which one of the following has minimum value of size of cation/anion

ratio ?

A. NaCI

https://dl.doubtnut.com/l/_8PabHGGIz2sZ
https://dl.doubtnut.com/l/_prrfHDjk8L3L
https://dl.doubtnut.com/l/_ziG62PRaqZCx


B. 

C. 

D. 

Answer: C

Watch Video Solution

KCI

MgCI2

CaF2

36. Match the elements given in Column I with the colour they impart to

the flame given in Column II. 

A. p - 1, q - 3, r - 2

B. p - 3, q - 1, r - 2

C. p - 2, q - 3, r - 1

ColumnI ColumnII

A. Cs 1. Apple green

B. Na 2. Violet

C. K 3. Brick red

D. Ca 4. Yellow

E. Sr 5. Crimson red

F . Ba 6. Blue

https://dl.doubtnut.com/l/_ziG62PRaqZCx
https://dl.doubtnut.com/l/_UcRAGoEZwz3g


D. p - 1, q - 2, r - 3

Answer: A

Watch Video Solution

37. The main oxides formed on combustion of Li,Na and K in excess of air

respectively are

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

Li2O, Na2O KO2

LiO2, Na2O2 K2O

Li2O2, Na2O2 KO2

Li2O, Na2O2 KO2

https://dl.doubtnut.com/l/_UcRAGoEZwz3g
https://dl.doubtnut.com/l/_sHqR4jT3JCiG


Comprehesion 2

38. The low solubility of LiF and that of CsI in water are respectively due

to which of the properties of the alkali metal ions?

A. Higher hydration enthalpy of , higher lattice enthalpy of 

B. Smaller hydration enthalpy of , higher lattice enthalpy of 

C. Smaller hydration enthalpy of , smaller lattice enthalpy of 

D. Higher lattice enthlpy of , smaller hydration enthalpy of 

Answer: D

Watch Video Solution

Li+ Cs+

Li+ Cs+

Li+ Cs+

Li+ Cs+

1. A Typical characteristic of the representative element is that the first

member of each group gives different present in that group. Lithium is

no excepton. Through it is the first member of the alkali metal family

(group f), it is anomalous in behaviour. This may be attributed to the

https://dl.doubtnut.com/l/_NYKO9djbw1jd
https://dl.doubtnut.com/l/_kF5rvsCWcHZw


small size of both Li and  ion, high ionisation enthalpy, high

polarising power, and non- availability of d-electrons in its valence shell. 

Lithium is the strongest reducing agent among the alkali metals due to

which of the following characterisitics ?

A. Ionisation enthalpy

B. Electron gain enthalpy

C. Hydration enthalpy

D. Lattice enthalpy

Answer: C

View Text Solution

Li+

2. A Typical characteristic of the representative element is that the first

member of each group gives different present in that group. Lithium is

no excepton. Through it is the first member of the alkali metal family

(group f), it is anomalous in behaviour. This may be attributed to the

small size of both Li and  ion, high ionisation enthalpy, highLi+

https://dl.doubtnut.com/l/_kF5rvsCWcHZw
https://dl.doubtnut.com/l/_jqr2KhtQNq0A


polarising power, and non- availability of d-electrons in its valence shell. 

Lithium nitrate upon heating gives

A. 

B. 

C.  and 

D. None of these

Answer: C

Watch Video Solution

O2

NO2

O2 NO2

3. A Typical characteristic of the representative element is that the first

member of each group gives different present in that group. Lithium is

no excepton. Through it is the first member of the alkali metal family

(group f), it is anomalous in behaviour. This may be attributed to the

small size of both Li and  ion, high ionisation enthalpy, high

polarising power, and non- availability of d-electrons in its valence shell. 

The order of solubility of lithium in non-polar solvents is :

Li+

https://dl.doubtnut.com/l/_jqr2KhtQNq0A
https://dl.doubtnut.com/l/_vujNZA0M7rbE


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

LiI > LiBr > LiCI > LiF

LiF > LiI > LiBr > LiCI

LiCI > LiF > LiI > LiBr

LiBr > LiCI > LiF > LiI

4. A Typical characteristic of the representative element is that the first

member of each group gives different present in that group. Lithium is

no excepton. Through it is the first member of the alkali metal family

(group f), it is anomalous in behaviour. This may be attributed to the

small size of both Li and  ion, high ionisation enthalpy, high

polarising power, and non- availability of d-electrons in its valence shell. 

Which of the following ions has the lowest mobility in aqueous solution ?

A. 

Li+

Li+

https://dl.doubtnut.com/l/_vujNZA0M7rbE
https://dl.doubtnut.com/l/_iFfOaXHT6LP7


B. 

C. 

D. 

Answer: A

Watch Video Solution

Na+

K +

Cs+

5. A Typical characteristic of the representative element is that the first

member of each group gives different present in that group. Lithium is

no excepton. Through it is the first member of the alkali metal family

(group f), it is anomalous in behaviour. This may be attributed to the

small size of both Li and  ion, high ionisation enthalpy, high

polarising power, and non- availability of d-electrons in its valence shell. 

Which among the following compound has the least thermal stability ?

A. 

B. 

Li+

Li2CO3

Na2CO3

https://dl.doubtnut.com/l/_iFfOaXHT6LP7
https://dl.doubtnut.com/l/_4RtiwLkRXBT4


Comprehesion 3

C. 

D. 

Answer: A

Watch Video Solution

K2CO3

Rb2CO3

1. The solubility of a crystalline compound in water is influenced by two

factors. These are lattice enthalpy and hydration enthalpy. Lattice

enthalpy is needed to separate the ions from the crystal lattice. At the

same time hydration enthalpy is released when the ion are dissolved in

water. The resultant of these two opposing tendencies guides the

solubility of the compound in water. If lattice enthalpy has a greater

magnitude, the compound has low solubility. In case hydration enthalpy

is more, then the compound is highly soluble in water. 

The hydroxide which is maximum soluble in water is :

https://dl.doubtnut.com/l/_4RtiwLkRXBT4
https://dl.doubtnut.com/l/_OwI0mebl0n6d


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Be(OH)2

Mg(OH)2

Ba(OH)2

Ca(OH)2

2. The solubility of a crystalline compound in water is influenced by two

factors. These are lattice enthalpy and hydration enthalpy. Lattice

enthalpy is needed to separate the ions from the crystal lattice. At the

same time hydration enthalpy is released when the ion are dissolved in

water. The resultant of these two opposing tendencies guides the

solubility of the compound in water. If lattice enthalpy has a greater

magnitude, the compound has low solubility. In case hydration enthalpy

is more, then the compound is highly soluble in water. 

A metal M readily forms a water soluble sulphate  water insolubleMSO4

https://dl.doubtnut.com/l/_OwI0mebl0n6d
https://dl.doubtnut.com/l/_DtVadq2Pgffo


hydroxide  and oxide MO which becomes inert upon heating.

The hydroxide is soluble in NaOH. The metal M is

A. Be

B. Mg

C. Ca

D. Sr.

Answer: A

Watch Video Solution

M(OH)2

3. The solubility of a crystalline compound in water is influenced by two

factors. These are lattice enthalpy and hydration enthalpy. Lattice

enthalpy is needed to separate the ions from the crystal lattice. At the

same time hydration enthalpy is released when the ion are dissolved in

water. The resultant of these two opposing tendencies guides the

solubility of the compound in water. If lattice enthalpy has a greater

magnitude, the compound has low solubility. In case hydration enthalpy

https://dl.doubtnut.com/l/_DtVadq2Pgffo
https://dl.doubtnut.com/l/_a7Ih8IbgFZX7


Scp

is more, then the compound is highly soluble in water. 

A chemical compound 'A' is used for water softening to remove temporary

hardness 'A' reacts with  to form caustic soda. When  is

bubbled through 'A' it becomes cloudy. The chemical formula of 'A' is :

A. CaO

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2CO3 CO2

CaC(OH)2

Ca(HCO3)2

CaCO3

1. Which out of the following will give basic solution ?

A. Ammonium acetate

https://dl.doubtnut.com/l/_a7Ih8IbgFZX7
https://dl.doubtnut.com/l/_mnPWdFYRpRQj


B. Ammonium chloride

C.  and 

D.  and 

Answer: C

View Text Solution

Na2CO3 NaOH

NaHCO3 NaCI

2. The metallic lustre exhibited by sodium is explained by

A. diffusion of sodium ions

B. oscilations of loose electrons

C. excitation of free proton

D. existence of body central cubic lattice

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mnPWdFYRpRQj
https://dl.doubtnut.com/l/_SIcAGUjLz9Rr
https://dl.doubtnut.com/l/_O7S4V5BHfpLs


3. The hydroxide of alkaline earth metal, which has the lowest value of

solubility product  at normal temperature  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(Ksp) (25∘C)

Mg(OH)2

Ca(OH)2

Ba(OH)2

Be(OH)2

4. The decreasing order of the second ionisation potential of K , Ca and

Ba is 

(At. No : K = 19 , Ca = 20 , Ba = 56)

A. 

B. 

K > Ca > Ba

Ca > Ba > K

https://dl.doubtnut.com/l/_O7S4V5BHfpLs
https://dl.doubtnut.com/l/_m60p5pxhfFG9


C. 

D. 

Answer: A

Watch Video Solution

Ba > K > Ca

K > Ba > Ca

5. Which of the following is correct for ?

A. It is a covalent compound

B. It contains  and  ions

C. It contains  and  ion

D. It contains  and  molecule

Answer: C

Watch Video Solution

CsBr3

Cs+ Br−

Cs+ Br3 −

Cs+ , Br− Br2

https://dl.doubtnut.com/l/_m60p5pxhfFG9
https://dl.doubtnut.com/l/_35XWMwYjDdBQ


6. The correct order of increasing thermal stability of

 and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K2CO3, MgCO3, CaCO3, BeCO3

I < II < III < IV

IV < II < III < I

IV < II < I < III

II < IV < III < I

7. Sodium nitrate decomposes above-  to give

A. 

B. 

C. 

D. 

800∘C

N2

O2

NO2

Na2O

https://dl.doubtnut.com/l/_JJ9HOerefjnx
https://dl.doubtnut.com/l/_IajMK5gP2p2e


Answer: B

Watch Video Solution

8. The set representing the correct order of the first ionisation potential

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

K > Na > Li

Be > Mg > Ca

B > C > N

Ge > Si > C

9. The least stable ion among the following is

https://dl.doubtnut.com/l/_IajMK5gP2p2e
https://dl.doubtnut.com/l/_gIhRS2ozDIvq
https://dl.doubtnut.com/l/_5AhPdLYWeolS


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Li−

B−

C −

Be−

10. A sodium salt on treatment with  gives white precipitate only

on heating. The anion of the sodium salt is 

A. 

B. 

C. 

D. 

Answer: A

MgCl2

:

HCO−
3

CO2 −
2

NO−
3

SO
−
4

https://dl.doubtnut.com/l/_5AhPdLYWeolS
https://dl.doubtnut.com/l/_cvFqUhXnj0dO


Watch Video Solution

11. Bleaching powder and bleach solution are produced on a large scale

and used in several hous-hold products. The effectiveness of bleach

solution id often measured by iodometry. 

Bleaching powder contains a salt of an oxoacid as one of its components.

The anhydride of that oxoacid is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CI2O

CI2O7

CIO2

CI2O6

12. Alkali metal hydrides react with water to give

https://dl.doubtnut.com/l/_cvFqUhXnj0dO
https://dl.doubtnut.com/l/_aBAoqVWvmFWy
https://dl.doubtnut.com/l/_hU4za3qOTLLP


Mcr

A. Basic solution

B. Acidic solution

C. Neutral solution

D. Hydrogen gas.

Answer: A::D

Watch Video Solution

1. Which of the following pairs of elements will give superoxides and

peroxides respectively when heated with excess of air ?

A. K, Br

B. Na, Rb

C. K,Rb

D. Na,Ba

https://dl.doubtnut.com/l/_hU4za3qOTLLP
https://dl.doubtnut.com/l/_0lttLtXGKUne


Answer: C::D

Watch Video Solution

2. Highly pure dilute solution of sodium in liquid ammonia

A. show blue colour

B. Exhibits electrical conductivity

C. Produces sodium amide

D. Produces hydrogen gas

Answer: A::B::C

Watch Video Solution

3. All the compounds listed below will react with water. In which of the

cases, same gaseous product is obtained ?

https://dl.doubtnut.com/l/_0lttLtXGKUne
https://dl.doubtnut.com/l/_7mb1kdogDRFt
https://dl.doubtnut.com/l/_togIBprkss33


A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

Na

Na2O2

KO2

NaH

4. Flame test is not given by

A. Be

B. Mg

C. 

D. 

Answer: A::B

Watch Video Solution

KO2

Sr

https://dl.doubtnut.com/l/_togIBprkss33
https://dl.doubtnut.com/l/_ppWvqvuHSmcX


5. Which of the following statements are false?

A.  in linear molecule in the vapour state

B. Calcium hydride is called hydrolith

C. Carbrides of both Be and Ca react with water to form acetylene

D. Oxides of both Be and Ca are amphoteric

Answer: C::D

Watch Video Solution

BeCI2

6. The reagent(s) used for softening the temporary hardness of water is

(are):

A. 

B. 

C. 

Ca3(PO4)2

Ca(OH)2

Na2CO3

https://dl.doubtnut.com/l/_ppWvqvuHSmcX
https://dl.doubtnut.com/l/_s5FbZFRtetGs
https://dl.doubtnut.com/l/_bCJRR21CcJeC


Assertion Reason

D. 

Answer: B::C::D

Watch Video Solution

NaOCI

1. Assertion (A): Lithium chloride is predominantly covalent compound. 

Reason (R ): electronegativity difference between Li and CI is small.

A. If both assertion and reason and correct and reason explanation for

assertion.

B. If both assertion and reason are correct but reason is not correct

explanation for assertion

C. If assertion is correct but reason is incorrect

D. If both assertion and reason are incorrect

https://dl.doubtnut.com/l/_bCJRR21CcJeC
https://dl.doubtnut.com/l/_19xhNOlNC5RU


Answer: C

Watch Video Solution

2. Give reasons for the following: 

a. Alkali metals are soft and volatile. 

b. First ionisation enthalpies of alkali metals are low.

A. If both assertion and reason and correct and reason explanation for

assertion.

B. If both assertion and reason are correct but reason is not correct

explanation for assertion

C. If assertion is correct but reason is incorrect

D. If both assertion and reason are incorrect

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_19xhNOlNC5RU
https://dl.doubtnut.com/l/_bo7VbkGrVddG


3. Assertion (A): Alkali metals can form ionic hydrides which contain

hydride ion, H. 

Reason (R ): The alkali metals have low EN. Their hydrides conduct

electricity, when fused and liberate hydrogen at the anode.

A. If both assertion and reason and correct and reason explanation for

assertion.

B. If both assertion and reason are correct but reason is not correct

explanation for assertion

C. If assertion is correct but reason is incorrect

D. If both assertion and reason are incorrect

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_h73wGGR3KsVN


4. Assertion (A):  cannot be prepared by Solvaly process. 


Reason (R ):  being fairly soluble does not precipitate out in

carbonation tower.

A. If both assertion and reason and correct and reason explanation for

assertion.

B. If both assertion and reason are correct but reason is not correct

explanation for assertion

C. If assertion is correct but reason is incorrect

D. If both assertion and reason are incorrect

Answer: A

Watch Video Solution

K2CO3

KHCO3

5. Assertion (A): Sodium ions are discharged in preference to hydrogen

ions at a mercury cathode. 

https://dl.doubtnut.com/l/_5arxJO6Bu64B
https://dl.doubtnut.com/l/_k4hCcIfV3zrN


Reason (R ): The nature of cathode can affect the order of discharge of

cations.

A. If both assertion and reason and correct and reason explanation for

assertion.

B. If both assertion and reason are correct but reason is not correct

explanation for assertion

C. If assertion is correct but reason is incorrect

D. If both assertion and reason are incorrect

Answer: A

Watch Video Solution

6. Assertion :  ions has the lowest mobility in aqueous solution 


Reason :  ion has very high ionisation enthalpy.

Li+

Li+

https://dl.doubtnut.com/l/_k4hCcIfV3zrN
https://dl.doubtnut.com/l/_KQY0ljk1SGpY


A. If both assertion and reason and correct and reason explanation for

assertion.

B. If both assertion and reason are correct but reason is not correct

explanation for assertion

C. If assertion is correct but reason is incorrect

D. If both assertion and reason are incorrect

Answer: B

Watch Video Solution

7. Statement I: Alkali metals dissolve in liquid ammonia to give blue

solutions. 

Statement II: Alkali metals in liquid ammonia give solvated species of the

type  (M = alkali metals).

A. If both assertion and reason and correct and reason explanation for

assertion.

[M(NH3)n]
⊕

https://dl.doubtnut.com/l/_KQY0ljk1SGpY
https://dl.doubtnut.com/l/_gC6UiqIL1x09


B. If both assertion and reason are correct but reason is not correct

explanation for assertion

C. If assertion is correct but reason is incorrect

D. If both assertion and reason are incorrect

Answer: B

Watch Video Solution

8. Statement 1 : Both Be and Mg donâ€™t impart any characteristic

colours to the flame 

Statement 2 : Both these elements have high value of ionisation

enthalpies.

A. Statement : 1 is ture, Statement 2 is also ture, Statement 2 is the

correct explanation of statement 1

B. Statement 1 is ture, Statement 2 is also ture, statement 2 is not the

correct explanation of statement 1

https://dl.doubtnut.com/l/_gC6UiqIL1x09
https://dl.doubtnut.com/l/_JldwLvoOqS7Y


C. Statement 1 is true, Statement 2 is false.

D. Statement 1 is also false, Statement 2 is ture

Answer: A

Watch Video Solution

9. Statement 1 : Sodium metal dissolves in liquid ammonia to form a blue

coloured solution. 

Statement 2 : The blue solution is a good conductor of electricity.

A. Statement : 1 is ture, Statement 2 is also ture, Statement 2 is the

correct explanation of statement 1

B. Statement 1 is ture, Statement 2 is also ture, statement 2 is not the

correct explanation of statement 1

C. Statement 1 is true, Statement 2 is false.

D. Statement 1 is also false, Statement 2 is ture

https://dl.doubtnut.com/l/_JldwLvoOqS7Y
https://dl.doubtnut.com/l/_yLaOZ8cB2e9J


Answer: B

Watch Video Solution

10. Be forms , but  forms . 

Reason (R ): Be does not have -orbitals in the valence shell but  has.

A. Statement : 1 is ture, Statement 2 is also ture, Statement 2 is the

correct explanation of statement 1

B. Statement 1 is ture, Statement 2 is also ture, statement 2 is not the

correct explanation of statement 1

C. Statement 1 is true, Statement 2 is false.

D. Statement 1 is also false, Statement 2 is ture

Answer: A

Watch Video Solution

[BeF4]2 −
Al [AiF6]3 −

d Al

https://dl.doubtnut.com/l/_yLaOZ8cB2e9J
https://dl.doubtnut.com/l/_o1ShJYJtiRVu
https://dl.doubtnut.com/l/_YtgbBq4krTCh


11. Assertion (A): In rainy season, common salt becomes damp after

sometime on keeping. 

Reason (R ): Common salt (NaCI) is hygroscopic in nature.

A. Statement : 1 is ture, Statement 2 is also ture, Statement 2 is the

correct explanation of statement 1

B. Statement 1 is ture, Statement 2 is also ture, statement 2 is not the

correct explanation of statement 1

C. Statement 1 is true, Statement 2 is false.

D. Statement 1 is also false, Statement 2 is ture

Answer: C

Watch Video Solution

12.  is soluble in water but  is insoluble. 


Reason (R ): Lattice enthalpy of  exceeds its hydration enthalpy.

BeSO4 BaSO4

BaSO4

https://dl.doubtnut.com/l/_YtgbBq4krTCh
https://dl.doubtnut.com/l/_xkv2dOzfYhYG


A. Statement : 1 is ture, Statement 2 is also ture, Statement 2 is the

correct explanation of statement 1

B. Statement 1 is ture, Statement 2 is also ture, statement 2 is not the

correct explanation of statement 1

C. Statement 1 is true, Statement 2 is false.

D. Statement 1 is also false, Statement 2 is ture

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xkv2dOzfYhYG

